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Subject : GE_Q01-Q10_PRT26FEBSH1
Question ID:- 1

Rearrange the parts in correct order to make a meaningful sentence.
(a) who first said

(b) it was Copernicus

(¢) round the sun
(

d) that the earth revolves

(1) (b), (@) (d), (0)
(2) () (a), (b), (d)
(3)  (d), (@), (b), (¢)
(4) (a), (b), (c), (d)
Options:-

«1, Option ID :- 1,
= 2, Option ID :- 2,
»« 3, Option ID :- 3,

« 4, Option ID :- 4,
Answer Given:- 1, OptionID : -1

Question ID:- 2

Change the following sentence from Active Voice to Passive Voice.
Do you expect help from your friends ?
(1) Help from your friends is expected by you ?

(2) Is help from your friends expected by you ?

(38) Are your friends expected to help you ?

(4) Is help expected by you from your friends.
Options:-

«1, Option ID :- 5,
» 2, Option ID :- 6,
« 3, Option ID :- 7,

» 4, Option ID :- 8,
Answer Given:- 2, Option ID : -6

Question ID:- 3
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Fill in the blank with the correct preposition.

He is physically fit and not averse hard work.
(1) of
(2) to
(3) from
(4) towards
Options:-

«1, Option ID :- 9,

» 2, Option ID :- 10,

« 3, Option ID :- 11,

« 4, Option ID :- 12,

Answer Given:- 1, Option ID : -9
Question ID:- 4

Choose the correct tense form of the underlined expression from the given options.

The traveller had visited many towns before he finally returned home.

(1) Past Indefinite

(2) Past Continuous

(3) Past Perfect

(4) Past Perfect Continuous
Options:-

=1, Option ID :- 13,
« 2, Option ID :- 14,
» 3, Option ID :- 15,

= 4, Option ID :- 16,
Answer Given:- 3, Option ID : -15

Question ID:- 5

Change the following sentence from Direct Speech into Indirect Speech.
Rakesh said to me, ‘Will you give me your friend’s mobile number?’

(1) Rakesh asked me if he would give me his friend’s mobile number.
2) Rakesh asked me if I would give him my friend’s mobile number ?
3) Rakesh asked me to give him his friend’s mobile number.
)

(
(
(4

Rakesh asked me If I would give him my friend’s mobile number.
Options:-

«1, Option ID :- 17,

« 2, Option ID :- 18,

« 3, Option ID :- 19,

« 4, Option ID :- 20,

Answer Given:- 4, Option ID : -20

Question ID:- 6

Identify the part which contains an error.
“The Canterbury Tales” / are a great work / of literary merit / in English

(1) (2) (3) (4)
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=1, Option ID :- 21,
= 2, Option ID :- 22,
« 3, Option ID :- 23,

« 4, Option ID :- 24,
Answer Given:- 2, Option ID : -22
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Question ID:- 7

Choose the word nearest in meaning to the given word.
TEMPORAL
(1) worldly

(2) spiritual

(3) practical

(4) crude
Options:-

«1, Option ID :- 25,
»« 2, Option ID :- 26,
« 3, Option ID :- 27,

» 4, Option ID :- 28,
Answer Given:- 4, Option ID : -28

Question ID:- 8

Choose the word opposite in meaning to the given word.

FELICITY

(1) jubilation
(2) pessimism
(3) sorrow

(4) weakness

Options:-

«1, Option ID :- 29,
» 2, Option ID :- 30,
« 3, Option ID :- 31,

= 4, Option ID :- 32,
Answer Given:- 2, Option ID : -30

Question ID:- 9

Identify the part of speech of the underlined word.
The jury pronounced the convict guilty.

(1) Pronoun

(2) Adverb

(3) Noun

(4) Adjective
Options:-

«1, Option ID :- 33,
» 2, Option ID :- 34,
« 3, Option ID :- 35,
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Answer Given:- 3, Option ID : -35

Question ID:- 10

Ident-ify the underlined clause in the given sentence.

King Akbar, who ruled the country for many years , was a just and noble king.

(1)  Principal Clause
(2) Noun Clause

(3) Adverb Clause
(4) Adjective Clause

Options:-

«1, Option ID :- 37,
= 2, Option ID :- 38,
=« 3, Option ID :- 39,

» 4, Option ID :- 40,
Answer Given:- 4, Option ID : -40

Subject : GH_Q11-Q20_PRT26FEBSH1

Question ID:- 11

fafafay e o) eAyds TRt AW S| uvd & e S Sife
T W g H Afe g9 S W o 9w fvea & faadt @1 S sae fauda ol F iy
AR SR ST 21 WU a1 Yoq FAfyEd g

g9 TF TH Y § S Sad Bl A UE o7 H o) oot 81 -9 9% % Sied § B9 99 H e
TEd B

ghad freea & faer €
(1) THIET &t e | 89 |
(2) TRIET 6 WY g w4
(3) gHEH

(4) TR o 91 gHEEAa |
Options:-

«1, Option ID :- 41,
« 2, Option ID :- 42,
« 3, Option ID :- 43,

= 4, Option ID :- 44,
Answer Given:- 2, Option ID : -42

Question ID:- 12
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frfafea T #1 SEyes Tesl AW 2uifid 7 & Te I SIS

T ®I g B afe g9 9 W 1 9w fvea @ foadt @1 S sae faada ol & iy
AR SR ST 21 WU o1 Y= iy g

g7 TH TH YN § S AT Bl A T o H R <ot 1 IR-9e 9% o Sed § 89 49 6 e

TEa E

ARl SR ST ¥
(1) TR aedt @

(2) AHRI S §

(3) UATEEIE

4) =T E
Options:-

»1, Option ID :- 45,
» 2, Option ID :- 46,
« 3, Option ID :- 47,

« 4, Option ID :- 48,
Answer Given:- 3, Option ID : -47

Question ID:- 13

frefafad e ®1 eIryds TRt P ARG U9 &1 Feis 39 dife |
TRIs 1 Bed H Al 99 §g S @ q%adl e @ faadt 21 S 39 fauda st % Wiy

IRl 3R SMere 311 W &1 9aq fHfv=d &
g weh T Toh & S Sftet ) oW uE oA W R Sl €1 9y-9e @ % Siad 59 99 % Hew
TEd g
e 1 I iR o9 W W e §
(1) AR
(2) =HIEE
(3) oM
(4) gFEmER
Options:-

=1, Option ID :- 49,
= 2, Option ID :- 50,
« 3, Option ID :- 51,

« 4, Option ID :- 52,
Answer Given:- 3, Option ID : -51

Question ID:- 14
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frfafea T #1 SEyes Tesl AW 2uifid 7 & Te I SIS

T ®I g B afe g9 9 W 1 9w fvea @ foadt @1 S sae faada ol & iy
AR SR ST 21 WU o1 Y= iy g

g7 TH TH YN § S AT Bl A T o H R <ot 1 IR-9e 9% o Sed § 89 49 6 e
@ g

‘g ¥ e § 3 foren’ s | Taifed e #ne #

(1) =
(2) =
(3) HYEH
(4) AUEH
Options:-

»1, Option ID :- 53,
» 2, Option ID :- 54,
« 3, Option ID :- 55,
« 4, Option ID :- 56,
Answer Given:- 2, Option ID : -54

Question ID:- 15

frfafea T #1 SEyEs Tesl AW 2nuifid 99 & Tei I e

T ®I g B afe g9 S W o 9w fvea @ foadt @1 3 sae faada ol F iy
AR SR ST 21 WU o1 Y= iy g

g9 TF TH IS § S Sfad A9 UE o7 H 9 <ot 81 - 9% % Sed § B9 49 H e
@ g

FE T SN T STHT W=7 &

(1) dAaR-aean

(2 T

(3) den-St

(4) TEHF-HRUH
Options:-

=1, Option ID :- 57,
= 2, Option ID :- 58,
»« 3, Option ID :- 59,

» 4, Option ID :- 60,
Answer Given:- 4, Option ID : -60

Question ID:- 16

Treferfas faeimnet wrea-gmHi H 316§

(1) sma-fom

(2 wFA-wfaEa
(3) srEE-fafa
(4) enfavia-TavmE
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Options:-

=1, Option ID :- 61,
« 2, Option ID :- 62,
« 3, Option ID :- 63,

» 4, Option ID :- 64,
Answer Given:- 4, Option ID : -64

Question ID:- 17

‘319 HerE 7 = & 9 % it e § Hdeam ©

(1) YeFar=H

2) TS

(3) s T=FETEH

(4) TreeHaETES
Options:-

«1, Option ID :- 65,
» 2, Option ID :- 66,
« 3, Option ID :- 67,

» 4, Option ID :- 68,
Answer Given:- 1, Option ID : -65

Question ID:- 18

T % STMER I ST wes T

(1) FHAR-FAR

(2) =rE-TIfEA
(3) TEI-TEOI
(4) "yl
Options:-

«1, Option ID :- 69,
» 2, Option ID :- 70,
« 3, Option ID :- 71,

« 4, Option ID :- 72,
Answer Given:- 3, Option ID : -71

Question ID:- 19

‘TR e’ Heral I HWelh #Y ® -

(1) = RS

(2) A B

(3) wgd STUHIT &
(4) oSl HIAT
Options:-

«1, Option ID :- 73,
« 2, Option ID :- 74,
« 3, Option ID :- 75,
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Question ID:- 20

(1) 3%
(2) W
(3) T
(4) T
Options:-

«1, Option ID :- 77,
= 2, Option ID :- 78,
»« 3, Option ID :- 79,

« 4, Option ID :- 80,
Answer Given:- 1, Option ID : -77

Subject : GA_Q21-Q30_PRT26FEBSH1
Question ID:- 21

According to the Indian counstitution who has the power to nominate member to the Legislative
Council of states ?

(1) President of India
2)
(3) Chairman of the State Legislative Council
(4) Speaker of the State Legislative Assembly

Governor of the State

Id o HiauH % STHR W Fit faud gfegl § sewdi =1 wra 3 &t afw g aw 2

(1) 9Wd & Tegafd

(2) TSF o TAUTEA

(3) U faum wftug % gamfy (F9E)

(4) T faum | & 1 (FHie)
Options:-

=1, Option ID :- 81,
« 2, Option ID :- 82,
»« 3, Option ID :- 83,

= 4, Option ID :- 84,
Answer Given:- 1, Option ID : -81

Question ID:- 22

Which of the following Union Teritories in India has the highest total Fertility Rate (children per
women) according to the National Family Health Survey 2019-21?

(1) Chandigarh

(2) Andaman and Nicobar

(3) Puduchery
(4)

4) Lakshadweep
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T qRER e gaeu 2019-21 % T9R, ¥R & Fefafed § 9 fe 99 9 43 0 $a 5911
(wfa wfeen, a=1) Faifas &2

(1) e
(2) iz SR FeER
(3) T
(4) @&
Options:-

»1, Option ID :- 85,
» 2, Option ID :- 86,
=« 3, Option ID :- 87,

= 4, Option ID :- 88,
Answer Given:- 1, Option ID : -85

Question ID:- 23

The crash of the Wall Street Exchange was the advent of which of the following world events, in

history?

(1) Gulf Warl

(2) American Civil War

(3) The Great Economic Depression
(4) The Oil Crisis

sfer o form afvass g2 1 i Y& aia $ie TS & gem 9 i 9 882

(1) @TEISI

(2) Rl T8 45

(3) T wamal (fe U2 el feuer)
(4) O H Hhe
Options:-

«1, Option ID :- 89,
« 2, Option ID :- 90,
« 3, Option ID :- 91,

« 4, Option ID :- 92,
Answer Given:- 3, Option ID : -91

Question ID:- 24

Which of the following in a Non- Metallic mineral?

(1) Mica

(2) Bauxite

(3) Manganese
(4) Gold
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Tefafad § 9 %0 uF R-uifas afvs & 2

(1) &AY9H
(2) @l
(3) HH
(4) @

Options:-

»1, Option ID :- 93,
» 2, Option ID :- 94,
» 3, Option ID :- 95,

»« 4, Option ID :- 96,
Answer Given:- 4, Option ID : -96

Question ID:- 25
Consider the following statements regarding the ‘Bharat Ratna” and identify the incorrect
statement :

(1) Itis awarded in recognition of exceptional service/ performance of the highest order in any
field of human endeavour.

(2) Each awardee recieves rupees one crore.
(3) Annual awards is restricted to a maximum of three in a particular year.
(4) In accordance with Articlel8(1) of the Constitution the award cannot be used as prefix or

suffix to the recipient’s name.

‘e T’ fou 91 % &R | fefafag wyel ) fgur S $1 ed #24 # 989 St

) I gHF & fovm § safed ) Sope Ye1/9evE & AR WSS 9 H fean S § )
2) TS QAR fasin & 1 HUe B9 fean s g1

) W = W srfurea i ARl 1 e W YeH fR S Feh §

)

4) Hfaud % S 18(1) ® HATER FEIf S AT A o UL AU U F w9 H 39 Y
T FAT TE] L G ¢ |
Options:-

«1, Option ID :- 97,
» 2, Option ID :- 98,
« 3, Option ID :- 99,

« 4, Option ID :- 100,
Answer Given:- 3, Option ID : -99

Question ID:- 26

Who won the Best Male Athlete award in the 36™ National games held in gujarat in 2022?
(1) Sajan Prakash

(2) Aryan Panchal
(3) Anshul Kothari
(4) Devansh Parmar
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oY 2022 H e H §U 36 9 UL Wl § Ha4S TEY UHel F JTEHR fhdq sl ?

(1) ST Fehe
(2) SR Y=
(3) ST HIH
(4) <A TR

Options:-

«1, Option ID :- 101,
» 2, Option ID :- 102,
» 3, Option ID :- 103,

« 4, Option ID :- 104,
Answer Given:- 2, Option ID : -102

Question ID:- 27

Which book\Title was awarded the Sahitya Akademi Bal Sahitya Puraskar 2022 in Odia ?
(1) Gapa Kalika

(2) Chhuinba Kia Chhun

(3) Kadhare Kadha: Phulare Phula

(4) Kolahala Na Halahala

(1) 79T <hifeteht

(2) Fggen fohan =g

(3) HTHN TeT; Fel el

(4)  hIcTETS A1 SRl
Options:-

«1, Option ID :- 105,
« 2, Option ID :- 106,
« 3, Option ID :- 107,

« 4, Option ID :- 108,
Answer Given:- 1, Option ID : -105

Question ID:- 28

Which of the following Ministries of the Government of India has launched “Information, Monitoring,
Evaluation and Social Audit’ (I-MESA) scheme ?

(1) Ministry of Rural Development

(2) Ministry of Agriculture and Farmers Welfare
(3) Ministry of Panchayati Rajya
(4)

4)  Ministry of Social Justice and Empowerment
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AT TR o Tord Harerd gr1 g, o], gedis i amifsss dodian (LMESA ) 9IS % i T8
g2
(1) e feskr Hare™

(2) i SR fRaM e 5

(3) H=EEd TS g

(4) TS = SR SAfueia damed
Options:-

«1, Option ID :- 109,

« 2, Option ID :- 110,

« 3, Option ID :- 111,

« 4, Option ID :- 112,

Answer Given:- 4, Option ID : -112
Question ID:- 29

Which of the following statements correctly represents B-horizon or the middle layer of the soil ?
(1) TItis made up of small lumps of rocks with cracks and crevices

(2) Itis generally soft, porous and can retain more water

(3) It has lesser amount of humous but more of minerals generally harder and more compact
(4) Itis hard and difficult to dig with a spade

Frefafed § | $F-T1 w9 S-gREsH sga ozt %1 aerg w1y #5198 w9 9 el @2
(1) I8 =e2El & 3R S | 5+ &dt § o 39 2 qun fagdiad &t €1

(2) ¥ eTdR R garaE, fog arelt St € oI stftes O 1 g S T 7

(3) =UH FH U H =y 2l € fohg @it s 2 € ermdR W e #i aifus ghHes
(4) 9% HS Bl ¢ IR 3H wEe § @Al gived g 81

Options:-

«1, Option ID :- 113,
« 2, Option ID :- 114,
« 3, Option ID :- 115,

=« 4, Option ID :- 116,
Answer Given:- 2, Option ID : -114

Question ID:- 30

Which of the following processes is used to separate grain seeds from their stalks?
(1) Handpicking

(2) Threshing

(3) Winnowing
(4)

Sieving
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TS o BFT 1 k! TS W AT A o fou fam gfsran =1 v o s g 2

(1) @19 H FTH
(2) T =
(3) WIH H
(4) BHEHPL
Options:-

«1, Option ID :- 117,
» 2, Option ID :- 118,
» 3, Option ID :- 119,

» 4, Option ID :- 120,
Answer Given:- 2, Option ID : -118

Subject : RA _Q31-Q35_PRT26FEBSH1

Question ID:- 31

How many odd numbers are there in the following number sequence which are immediately
preceeded and succeeded by even number ?

236 231443121258¢06743

(1) 4
2) 3
3) 5
4 2

Freferfiad Hen sa 4 Ul foraet famm Hend 8 fe gect SiR o H 59 Her S & 2
236231443121258¢6743

(1)
(2
(3
(

R

6
-+
3
B
2

4

—

Options:-

«1, Option ID :- 121,
« 2, Option ID :- 122,
»« 3, Option ID :- 123,

« 4, Option ID :- 124,
Answer Given:- 1, Option ID : -121

Question ID:- 32

The front door of Rohit’s house faces the east. From the back door of his house, he walks straight
50 m, then turns to the right and walks 30 m. He turns towards left and walk 25 m. Finally, he
again turns towards left and stops after walking 70 m. Now, Rohit is in which direction from the
starting point ?

(1) North
(2) North-West
(3) South
(4) South-West
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Tifed % B % 37Tel aLars! 1 §8 Jd #i SR 2 | 9% 39 =R % (el avars § 50 Hiex Hien =ea & 3R
TR ST YRt 30 HieX Serdl § | 9% STl 3R A1 € 371 25 WX Ferd ¥ | ofd H o g 9 S gHar € $R
70 Hiex =erRt o Sl | 7, Ufed o1 aifyye fag 9 g fan # 22

(1) =W
(2) SO-ufe=d
(3) afem
(4) efgo—afeem
Options:-

«1, Option ID :- 125,
« 2, Option ID :- 126,
« 3, Option ID :- 127,
« 4, Option ID :- 128,
Answer Given:- 1, Option ID : -125

Question ID:- 33

Seven students P, Q, R, 5, T, U, V and W are sitting in a line facing east but not necessarily in the
same order.

'V’ is to the immediate left of ‘S’ and to the immediate right of ‘Q". ‘P’ is on the immediate right of
‘R'. 'P and ‘S’ have one student between them. ‘Q" and ‘T" have one student between them.
‘S’ and ‘U" have two students between them. ‘W' is at the north end.

Who is sitting at the south end ?

(1) P
2 U
3 T
(4) S

HABEP,Q,R,S, T, U, VAR W Yd &l 3R He ich U Ufdd H o & fehq o 361 o1 H =& &S 2 |
V', 'S’ % UsHEH S SR 9e1/Q’ % Ushed il 3iR ¥1 ‘P, ‘R’ % Used i SR B 1 P 2R ‘S F A= UH
BANGEI'Q N T FHI THBHANI G ‘S IR ‘U F oGSl DI ad ¢ | ‘W’ S H dferd o 37d H Sa
iy

Yfed % gfam # ofd § oF S8 ?

1 P

(2)
(3)
(4)

w4

Options:-

«1, Option ID :- 129,
« 2, Option ID :- 130,
» 3, Option ID :- 131,

» 4, Option ID :- 132,
Answer Given:- 3, Option ID : -131

Question ID:- 34
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Given below is a question followed by two statements numbered I and II each containing some
information. Decide which of the statement(s) is/are sufficient to answer the question.

B @ What is the code for ‘life’ in the code language ?

| ¢ In same code language, ‘we are friends’ is written as “Iti fer gou’.

IX : In same code language, “friends are life’ is written as ‘gou Iti mrt’.

(1) The statement I alone is sufficient to answer the question while statement II alone is not
sufficient.

(2) The statement II alone is sufficient to answer the question while statement I alone is not
sufficient.

(3) Both statements I and II together are necessary to answer the question.
(4) Both statements I and II together are not sufficient to answer the question.

= e wee e T § ok 9 91 wem-1 sl 1 fou o § 59 weis § 35 Sieeid <1 T § 1 e Fv
TS o 17 |I/A HIT 97 1 SR 94 & forg A 28 |

W.: He 9T H ‘life’ % forg # %e § 72

HUT [:  FHI F2 91 H “we are friends’ F ‘Iti fer gou’ & ¥ H foran S ¥
WA I1: 3 &2 9N H ‘friends are life’_cl-f[‘gou 1ti mrt’ & ®9 H foran s )
(1) HEF-1 3FA §9 H IR A F forw vata & sefes weA-11 et 7 72 81
(2) HYA-II 3Tt T F1 IR o7 & o0 Ta § Sefeh hoA-1 Thet 72 =&l 2 |
(3) wheE-1 SR I, T e 999 &1 I &4 = AU A&+ 2 |

(4) HEF-1 R, ST Tt Y99 &1 S &7 % fore g3 78 7 |

Options:-

«1, Option ID :- 133,
« 2, Option ID :- 134,
»« 3, Option ID :- 135,

» 4, Option ID :- 136,
Answer Given:- 3, Option ID : -135

Question ID:- 35
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In the diagram given below, circle ‘A’ represents industrious, circle ‘B’ represents optimistic, circle
‘C’ represents tax-payers and circle ‘D’ represents urban.

D
How many rural tax-payers are there who are neither industrious nor optimistic ?
(1) 9
(2 11
(3) 15
(4) 18

= feu 7w e |, 9 A7 gRgHl, 99 B SmErEl, g9 ‘C FErIE 991 g9 D el @il 1 wiatfue
TGN

D
T o T 1 F-2@1 € o1 7 o 9RgHt € siv 7 & s ?
@ 9
2) 11
(3 15
(4) 18
Options:-

«1, Option ID :- 137,
» 2, Option ID :- 138,
« 3, Option ID :- 139,

« 4, Option ID :- 140,
Answer Given:- 2, Option ID : -138

Subject : CL_Q36-Q40_PRT26FEBSH1

Question ID:- 36
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Gravit Siya is planning to connect 15 office computers using Ethernet Cable. Which one of the
following devices should he use for the same ?

(1) Switch

(2) Booster
(3) HDMI Splitter
(4) Repeater

e fa=n suee Fae 1 T FRE FREE F 15 FE B FAEE H hi e o9 W E | SY 39
o fefafaa § 9 fg fearsg &1 93 s =ifee 2

(1) f&= (Switch)

(2) %X (Booster)

(3) TSl UH AR feee (HDMI Splitter)
(4) THieT (Repeater)

Options:-

«1, Option ID :- 141,
« 2, Option ID :- 142,
« 3, Option ID :- 143,

» 4, Option ID :- 144,
Answer Given:- 3, Option ID : -143

Question ID:- 37

Which of the following ports is used to connect ethernet cable on a PC/Laptop ?

(1) RJ45
(2) USB
(3) HDMI
(4) VGA

Tepll t El/eideld 9T 3uTe FHed 1 FHqae L 6 fae fFe 9 &1 wam fm= s €2
(1) SIS 45 (RJ45)

(2) ¥ TH S (USB)

(3) TH A A (HDMI)

(4) o S T (VGA)
Options:-

«1, Option ID :- 145,
« 2, Option ID :- 146,
« 3, Option ID :- 147,

= 4, Option ID :- 148,
Answer Given:- 3, Option ID : -147

Question ID:- 38
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Which of the following is the highest capacity of memory ?

ExaByte
MegaByte
TeraByte
GigaByte

Frfafaa 9 9§ A9 I9R &9ar gaifues § 2

(1) ExaByte
(2) MegaByte
(3) TeraByte
(4) GigaByte
Options:-

«1, Option ID :- 149,
»« 2, Option ID :- 150,
»« 3, Option ID :- 151,

=« 4, Option ID :- 152,
Answer Given:- 1, Option ID : -149

D

@
()
(4)

18 of 88

Question ID:- 39

is not a file extension of a video file.

(1) mov

(2) avi

(3) mp4

(4) pdf

fertlt =iifeal wrger =1 wee famr 72t 2|

(1) mov

(2) avi

(3) mp4

(4) pdf
Options:-

=1, Option ID :- 153,
= 2, Option ID :- 154,
» 3, Option ID :- 155,
» 4, Option ID :- 156,
Answer Given:- 4, Option ID : -156

Question ID:- 40

Which of the following is the correct full form of VoIP ?

Video over Internet Protocol
Voice on Internet Protocol
Voice over Internet Protocol

Voice over Internetwork Protocol
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a1 37 &7 i (VolIP) &1 T Hel 19 11 & ?
) Hifedr e Sete Ueie

(2) OB T §ITE Welehlel

(3) dEH A e Yk

(4) AEH 3iER geTHedash bl

Options:-

«1, Option ID :- 157,

» 2, Option ID :- 158,

« 3, Option ID :- 159,

» 4, Option ID :- 160,
Answer Given:- 2, Option ID : -158

Subject : UL_Q41-Q55_PRT26FEBSH1

Question ID:- 41

Telling Truth by child comes under which domain ?

(1) Social

(2) Physical

(3) Cognitive

(4) Moral

I g T Ao fmy SHa § e 2
(1) HHEIsHR

(2) wwifER

(3) HMTHS

(4) Hfae
Options:-

«1, Option ID :- 161,
« 2, Option ID :- 162,
« 3, Option ID :- 163,

« 4, Option ID :- 164,
Answer Given:- 4, Option ID : -164

GET IT ON
Google Play
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Question ID:- 42

Primary Socialising Agency for the children is :

(1) Media
(2) School
(3) Family
(4) Play ground

19 of 88
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aTeTeh! oF foru grerfies GraTeiieror Tordl shiq @t § 2

(1) e

(2) faEmer™

(3) YREr

(4) T H A
Options:-

«1, Option ID :- 165,

» 2, Option ID :- 166,

« 3, Option ID :- 167,

» 4, Option ID :- 168,

Answer Given:- 3, Option ID : -167
Question ID:- 43

Which one of the following plays a vital role in educating the child after the school ?
(1) Teacher

(2) Media
(3) Home
(4) Family

forrmem % Tvard =es #1 Rifsm w0 § Freafafes 9 3§ weifys meegl gt freet §72

(1) AT
(2) Hifear
(3) ™
(4) URER

Options:-

«1, Option ID :- 169,
»« 2, Option ID :- 170,
« 3, Option ID :- 171,

« 4, Option ID :- 172,
Answer Given:- 2, Option ID : -170

Question ID:- 44

The term growth in child’s development is :
(1) TIrreversible physical change

(2) [Irreversible emotional change

(3) Reversible physical change
(4)

4)  Reversible emotional change
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areres & fas § gfg =1 @ 2
(1) sfaad srRifie gfEds
(2) sfqad Haens 9iEma
(3) fcerdl wrifes afed

(4)  gfcerd] Hermedes itad=
Options:-

«1, Option ID :- 173,

» 2, Option ID :- 174,

» 3, Option ID :- 175,

» 4, Option ID :- 176,

Answer Given:- 3, Option ID : -175
Question ID:- 45

plays a key role in learning of the child.

(1) Emotion

(2) Growth

(3) Maturation

(4) Development

qreTF & At § it HEa gl iR 8
(1) Fam

2 s

(3) wftgeEA

(4) fa=wm
Options:-

«1, Option ID :- 177,
« 2, Option ID :- 178,
»« 3, Option ID :- 179,

« 4, Option ID :- 180,
Answer Given:- 4, Option ID : -180

GET IT ON
Google Play
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Question ID:- 46

To address Juvenile Problem the school should :
(1) Conduct sports and games frequently.
Listen the child carefully.

4)  Give responsibility to the child.

21 of 88

(2
(3) Arrange regular professional counselling in schools,
(4)
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feroTr guEnsti & amyE & fau faemea =i -
(1) @R-9R Eerehe AETea H =ity

(2) ETAF 1 AFYEEF A1 e

(3) TommeEi § fAiaw Teee el AEifsd S =fey
(4) @A 1 Terie divH =ifee

Options:-

«1, Option ID :- 181,

» 2, Option ID :- 182,

» 3, Option ID :- 183,

« 4, Option ID :- 184,

Answer Given:- 2, Option ID : -182
Question ID:- 47

To educate a child, the family has to :
(1) Impart the values.

(2) Ensure attendance in school.
(3) Buy adequate number of books.
(4) Ensure balanced diet.

aeren 6 foifere e & oy aftem =1 -

(1) e e =fen

(2) Tomme § sufefa gfafeaa we =ifsg
(3) A Hem ¥ g et e

(4) wHdfora smer gHf=E s =iy
Options:-

«1, Option ID :- 185,
» 2, Option ID :- 186,
« 3, Option ID :- 187,

« 4, Option ID :- 188,
Answer Given:- 2, Option ID : -186

Question ID:- 48

Increase in height and weight of the child is the symptom of :
(1) Emotional growth
(2) Cognitive growth
(3) Social growth
(4)

4 Phy sical growth
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A | e U g9 H gfg fHy ard o1 Hehd 2 2

(1) Homes gfg

(2) TS gig

(3) wmIfS g

(4) vRIRF gfg
Options:-

«1, Option ID :- 189,

» 2, Option ID :- 190,

« 3, Option ID :- 191,

»« 4, Option ID :- 192,

Answer Given:- 4, Option ID : -192
Question ID:- 49

What is Phonology ?
(1) Creating the potential of touch sensors.

Creating the sounds of speech in early childhood.

(2)
(3) Hearing sensation developed in child.
(4)

4)  Smell receptors in childhood.

o fagm # 2

(1) 9t Gogen i &Hal G T

(2) SR FeF | 9% AiHE TR HET
(3) ereh | fasRfEa geor Hegd

(4) STeTsRE o o sy

Options:-

«1, Option ID :- 193,
» 2, Option ID :- 194,
» 3, Option ID :- 195,

« 4, Option ID :- 196,
Answer Given:- 2, Option ID : -194

GET IT ON
Google Play
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Question ID:- 50

Imagination power increases among :
(1) Adolescents

(2) Adults
(3) Children
(4) Senior citizens

23 of 88
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T sheaA v aadl |

(1) e

(2) TSR

(3) eTR

(4) Aftss AT
Options:-

«1, Option ID :- 197,

» 2, Option ID :- 198,

»« 3, Option ID :- 199,

» 4, Option ID :- 200,

Answer Given:- 1, Option ID : -197
Question ID:- 51

To address an adolescent child in class the teacher has to :
(1) Reprimand

(2) Fixresponsibility

(3) Do moral policing
(4)

4 Listen to them actively

a7 H TRl 1 T 1 9HIMH A & fAU S 6

(1) 9= A =0fey

(2) TSR T3 FE! =iy

(3) fes frzm wa =fey

(4) =% 9fhg ¥4 H g1 =i
Options:-

«1, Option ID :- 201,
« 2, Option ID :- 202,
» 3, Option ID :- 203,

« 4, Option ID :- 204,
Answer Given:- 4, Option ID : -204

Question ID:- 52

The role of the school in educating the child is :
(1) To promote discipline.

(2) To conduct exam and declaring the result.
(3) Transformation of the child.
(4)

4) To teach well all subjects.
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dreAek i e o fonerd =1 = yfie € ?
(1) ATTE 1 FQM A6y
(2) TiE AT T SR R =fed
(3) TS Wl WG AT
(4) @it T wEl €0 9 ger
Options:-

«1, Option ID :- 205,
» 2, Option ID :- 206,
» 3, Option ID :- 207,
» 4, Option ID :- 208,
Answer Given:- 3, Option ID : -207

Question ID:- 53

is not a social skill among the children.

(1) Showing affection to a friend
(2) Distributing birthday sweets
(3) Food sharing with peers
(4) Playing with friends
AR % T WIS B TET
(1) o3 % @19 T yeftia &
(2) “fead W fHeEal s
(3) I % T IS | HA
(4) o3l & w1 @A
Options:-

«1, Option ID :- 209,
« 2, Option ID :- 210,
« 3, Option ID :- 211,

« 4, Option ID :- 212,
Answer Given:- 2, Option ID : -210

Question ID:- 54

Which one of the following example could be related to cognitive learning of the child ?
(1)  Crying

(2) Exploring types of plants in garden.
(3) Singing
(4)

4)  Dancing
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frafafes § 9§ :F-91 3R A & IAEE A ¥ gag 8?7

(1) T
(2) @i H il % YR ST
(3) A
(4) T R
Options:-

«1, Option ID :- 213,

» 2, Option ID :- 214,

»« 3, Option ID :- 215,

« 4, Option ID :- 216,

Answer Given:- 2, Option ID : -214
Question ID:- 55

What could be the major challenge to tackle adolescents in school ?
(1) Low attention

(2) Restlessness

(3) Aggression

(4) High degree of wisdom

Toramer  foreik & Fraes |y SR 1 21 Heedl 82

(1) | &H

(2) e

(3)  FATHTHHAT

(4) 3= HewEHiET
Options:-

«1, Option ID :- 217,
« 2, Option ID :- 218,
» 3, Option ID :- 219,

« 4, Option ID :- 220,
Answer Given:- 4, Option ID : -220

Subject : UTL_Q56-Q70_PRT26FEBSH1

Question ID:- 56

Which of the following statements is not true about the role played by the curriculum ?

(1) Curriculum forms the basis for a contract among students, teachers and affiliating
organisations.

B

Curriculum is not a legal document.

—
=x)
—

Curriculum provides for attainable standards.
(4) Curriculum serves as basis for establishing equivalence.
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area=Al St yfae & 9 fefafan § § SE-ar weE gd @ 82
(1) reg=at B, seme iR gefia el % o9 T 9uei R T

(2) weTEEl wF fafier swEs 7 21

(3) UIH=FA UId WA YSH Hdl 2

(4) UrEHEEl geddl R T 1 Tk STHR 2|
Options:-

«1, Option ID :- 221,
» 2, Option ID :- 222,
« 3, Option ID :- 223,

= 4, Option ID :- 224,
Answer Given:- 1, Option ID : -221

Question ID:- 57

Which one of the following is not a responsibility expected of a teacher in “Assessment of
Learning’ ?

(1) Ensuring that the objectives of assessment task are clearly understood by students

(2) Collecting sufficient evidence to base the decisions
(3) Allowing unlimited time for completion of task
(4) Being sensitive to the challenges faced by students

‘sifirm o1 eTerer | H Freifafed § | 9o s ) w frer e e o gkt €2
) 7E giafeea & 5 36 T e w1 # 29 ) W B9 g gug fam #

2) T % sTuR ¥ TS Wi UHH &

) T A ¥ T st T

) Torenfeli & wHer o @ AT & gfd HergTsiie

Options:-

«1, Option ID :- 225,
« 2, Option ID :- 226,
« 3, Option ID :- 227,

« 4, Option ID :- 228,
Answer Given:- 3, Option ID : -227

Question ID:- 58

Which of the following statements is incorrect ?

(1) Competency is a skill performed to a specific standard under specific conditions.
(2) Competency is a clearly defined measurable activity.

(3) Competencies lack in communicability.
(4)

Competency refers to essential skill, Knowledge to be demonstrated in real world tasks.
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frefafaa § § FF-a1 weF 98 76 §2

(1) & Tk HRId ¢ = fafere feafadi § fafore ame &g fonfea forn s &1
(2) & UH T WY W GRAET 79H 37 foF 2

(3) TEHe H HUWONEAl 1 A9 Fel B

(4) oo arEfas Sfvad wEl § yeiid e S aren sfar e, 99 8

2

Options:-

«1, Option ID :- 229,
» 2, Option ID :- 230,
« 3, Option ID :- 231,

« 4, Option ID :- 232,
Answer Given:- 2, Option ID : -230

Question ID:- 59

Which one of the following is not a phase of experiential learning ?
(1) Previous knowledge

(2) Reflective observation

(3) Abstract conceptualization

(4) Actve experimentation

Frafafeaa § 9 @ sTvaras S % T =10 16 ¢ 2

(1)

(2) Te=msie s
(3) HA HYHHII

(4) GfeRa gam
Options:-

«1, Option ID :- 233,
» 2, Option ID :- 234,
« 3, Option ID :- 235,

« 4, Option ID :- 236,
Answer Given:- 3, Option ID : -235

Question ID:- 60

If the student seems to be fatigued from the mental work, the teacher should :
(1) decrease the amount of work she/he has to do.

(2) provide her him with greater variety of tasks.

(3) increase the attractiveness of the rewards to be attained on continuing,
(4)

4) encourage her/him to continue persistently.
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e fernfel amfeer el 9 oo g7 Udid @1 d TEAT9e &l I T F1e ?

(1) 3% 51 e ST are =@ #1361 =2

(2) W HE UFER F FE

(3) M S TE W YEH fohU S &l YOS hl STektehd] H g s
(4) TaEntsd sl eRIAR M A o icded

Options:-

«1, Option ID :- 237,
» 2, Option ID :- 238,
» 3, Option ID :- 239,

« 4, Option ID :- 240,
Answer Given:- 4, Option ID : -240

(1)
(2)
3)
(4)

(1)

Question ID:- 61

Which one of the following is not based on constructivist approach ?

Frefafea § 9 9o SEEmEE Uy 9 SRy 6§ 2

(2) AferTHERT T FeieE R Vi FH i o STER B
(3) U fRa FRiwE FEfTH H FEEa F ©
(4) afrm v AfFEg w1 ferer am wiw g1
Options:-

«1, Option ID :- 241,
« 2, Option ID :- 242,
« 3, Option ID :- 243,

« 4, Option ID :- 244,
Answer Given:- 2, Option ID : -242

Learner’s previous knowledge plays an important role in the construction of knowledge.
A learner’s strong memory power is the basis of construction of knowledge.

Interactive activities help construction of knowledge.

Learning is an active meaning making process.

SAfrET 1 I FH, F6 & 0§ gy it fam #)

(1)

29 of 88

Question ID:- 62

Idenl-ify the correct statement :

Formative Assessment utilises the most traditional assessmentmethods of evaluating student’s
work.

Formative Assessment’s results are used for ranking the students.

Formative Assessment recognises the need for students to be able to assess themselves and
understand how to improve.

Formative Assessment encourages extrinsic motivation.
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el 9 i UEHH HITAU;
(1) TS Aha o faenfiEl & #Ei &1 gedis ®E @ Gaiiys e gogis afudl s gan
o S

(2) TEACHS AR % ROTHT 1 W BE R o H e o 2

(3) TEAICHS SThET S ohi SATTTIRT! i TeH HLAT § TNk o WY T ST HY Geh 31T T8 T
Hoh Toh fohT YohR QU &1 €

(4) TR ST SEd SIETON I W S

Options:-

»1, Option ID :- 245,
» 2, Option ID :- 246,
= 3, Option ID :- 247,

» 4, Option ID :- 248,
Answer Given:- 3, Option ID : -247

Question ID:- 63

Which one of the following is not a feature of continuous and comprehensive evaluation ?
(1) It makes teaching-learning a child centred activity.

(2) It helps reducing learning gaps to a great extent.

(3) Includes both scholastic and co-scholastic aspects of students learning,

(4) It lays emphasis on memorisation of basic concepts.

frefafad § 9 #F-t T 3it I9e geaisd & U faumd 78 € ?
(1) =% fasmr-sifirm 1 v ae-Hi=a B o= &

(2) % SAETH-3{A F FHI TC TH HH FH H TLHA FHA ¢ |

(3) W BEI % Afer % g qun we e, A1 va WA B |
(4) % go Geheaisl i e FE W T ol B

2

Options:-

«1, Option ID :- 249,
« 2, Option ID :- 250,
« 3, Option ID :- 251,

« 4, Option ID :- 252,
Answer Given:- 4, Option ID : -252

Question ID:- 64

Which one of the following is not a characteristic of a good teaching-learning material ?
(1) Familiarity

(2) Attractiveness

(3) Single usage

(4) Novelty

30 of 88 07-03-2023, 22:53


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Response Sheet https://kvsexam26feb23s1.cbtexam.in/Candidate/ResponseSheet.aspx...

frefafea § 9 7 v =31 foemr-aafenm ameh =) v fagme =56 § 2
(1) gfesran

(2)  STERHeR

(3) Ushel IUANT

(4) =
Options:-

«1, Option ID :- 253,
» 2, Option ID :- 254,
» 3, Option ID :- 255,

» 4, Option ID :- 256,
Answer Given:- 3, Option ID : -255

Question ID:- 65

Which one of the following is not a characteristic of a good lesson plan ?
(1) Objective based

(2) Comprehensiveness
(3) Inflexibility
(4) Implementability

frfafed 5 9 =01t =31 g =t faga 7= & 2

(1) 3=9F i

(2) HYEHdl

(3) TR-TEETH

(4) wEitad fRT ST i A
Options:-

«1, Option ID :- 257,
» 2, Option ID :- 258,
« 3, Option ID :- 259,

« 4, Option ID :- 260,
Answer Given:- 3, Option ID : -259

Question ID:- 66

Which one of the following is not a characteristic of teacher centred approach ?
(1) The students are writing down dictation given by the teacher.

(2) The students are doing mass drill in the field.

(3) The students are memorising multiplication tables by rote.

(4)

4) The students are developing different models using clay and paper in groups.
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frefefad | @ @ sterde Shisd SUrTH ! Tk fadmdr &) & ?

(1) fornfd stearves gr aaE 7 o #1 foa @ )

) Torenfe &= d FrRt s R R T

3) faenf wmrEi FIFRT AR TR

4y foenfd ggg ¥ firedt SR HrTs 1 YA Hih 3T Hisd S L | |

(2
(¢
(

Options:-

«1, Option ID :- 261,
» 2, Option ID :- 262,
» 3, Option ID :- 263,

« 4, Option ID :- 264,
Answer Given:- 3, Option ID : -263

Question ID:- 67

Recording and Reporting of students’ learning progress is beneficial for planners and administrators
to:

(1) clarify the objectives of school program.
(2) improve class management.

(3) monitor the quality of education.

(4) advise better use of TLMs.

ferenfeli =61 saferm yofa =1 ferre e oI 3wehl R e dsm Fafmel SR gerde &g S9Er €
(1) Toemera HEiwy * 389l &l ¥R HH & fag

(2) e WEEA H gUR & & fag

(3) Toran =t TurEsn =1 frET % fom

(4) 21 U UH 1 ded AR FLA HI HAE 9 o forg

2

Options:-

«1, Option ID :- 265,
« 2, Option ID :- 266,
« 3, Option ID :- 267,

« 4, Option ID :- 268,
Answer Given:- 4, Option ID : -268

Question ID:- 68

Which of the following statements is not true ?
(1) Multilevel teaching is related with Monograde situation.
(2) A multigrade teacher faces many challenges.

(3) Multigrade teaching is not confined to India. Itis seen in developed as well as under developed
countries.

(4) Multigrade teaching cannot be made effective by appropriate seating arrangement.
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(3) el fomr Wi % Hifa 721 8, a7 fomfad oiw fasmeiiar <o o off faes aa 2
(4) S Sl ST AT GRI SEHAN Taror o1 uwret 7 A S el €

Options:-

«1, Option ID :- 269,
» 2, Option ID :- 270,
« 3, Option ID :- 271,

« 4, Option ID :- 272,
Answer Given:- 4, Option ID : -272

Question ID:- 69

Which one of the following is not a characteristic of Discovery method ?

(1)  Each child is made to feel responsible for finding out something for herself /himself.

(2) As many questions as possible should be allowed to arise from children’s own observations.
(3) Students cannot seek guidance from the teacher.

(4) Each child tries to acquire information about the problem from different sources.

Freafafad 9§ 9 70 e = o= fafy =t ue fasmm 728 82

(1) UIsh a1 3194 fou % Ee 2g [HeR qegd U s gl

VL T Tl = 2 e 2 o s o M= R 212 1o i o o e M e L
3) B HWTEF | AFGYH I HIT TG B HHRd B |

4) e Tk fafu= S 3 goey & 9§ STER! Urd i &1 93 Sl ¢

(2
(:
(

Options:-

«1, Option ID :- 273,
« 2, Option ID :- 274,
« 3, Option ID :- 275,

« 4, Option ID :- 276,
Answer Given:- 3, Option ID : -275

Question ID:- 70

While teaching the concept of a ‘circle’, which one of the following would be the best way to do

it ?

(1) Present pictures of circles and ellipses

(2) Present a picture of circle

(3) Present pictures of circles and polygons
(4) Present pictures of circles of various sizes
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(1) 9 iR SreETl 1 fod wefd wem

(2) I = 99 yei L

(3) =i 3R gy w1 T Wefeid &em

(4) Tafy=1 3R & gl o1 o3 yafEid e
Options:-

«1, Option ID :- 277,
» 2, Option ID :- 278,
» 3, Option ID :- 279,

» 4, Option ID :- 280,
Answer Given:- 4, Option ID : -280

Subject : CCLE_Q71-Q80_PRT26FEBSH1

Question ID:- 71

‘Low Attention span’ commonly found in
(1) Adults

(2) Secondary students

(3) Primary students

(

4)  Senior secondary students

‘o e aqafy | TR O St 2

(1) =F%h H

(2) weafhes faenfea |

(3) et ferenfef |

(4) afty wreafhes famfelar o
Options:-

«1, Option ID :- 281,
« 2, Option ID :- 282,
» 3, Option ID :- 283,

« 4, Option ID :- 284,
Answer Given:- 2, Option ID : -282

Question ID:- 72

The learning by child, other than school known as :
(1) Informal learning

(2) Non-formal learning
(3) Formal learning

(4)

Natural learning
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(1) = sfem
(2) R-si=fer sifrm
(3) oit=fie sferry

(4) HufifEr siferm
Options:-

«1, Option ID :- 285,

» 2, Option ID :- 286,

« 3, Option ID :- 287,

» 4, Option ID :- 288,

Answer Given:- 2, Option ID : -286
Question ID:- 73

The basic principle of ‘counselling” in schools is :
(1) Co-operation

(2) Acceptance
(3) Data collection
(4) Empirical Evidence

feremer 5 “aHRl <4 1 e fAgid €

(1) =&

(2) EEEH

(3) ST HIEW

(4) HIHES HigY
Options:-

«1, Option ID :- 289,
« 2, Option ID :- 290,
« 3, Option ID :- 291,

« 4, Option ID :- 292,
Answer Given:- 1, Option ID : -289
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Question ID:- 74

The condition of "Handicap” in disability refers to :
(1) Loss of memory

(2) Insommnia

(3) Loss of any body part

(4)

4)  Nostolgia
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Options:-

«1, Option ID :- 293,

» 2, Option ID :- 294,

» 3, Option ID :- 295,

» 4, Option ID :- 296,

Answer Given:- 3, Option ID : -295
Question ID:- 75

‘Severe Mental Retardation” indicate the L.Q. range of

(1) 20-35
(2) 35-40
(3) 40 -50
(4) 45-55

‘TR AAfaeE e Tt afs-afsr g 5 8T 39m & ® 2

(1) 20-35
(2) 35-40
(3) 40-50
(4) 45-55
Options:-

«1, Option ID :- 297,
« 2, Option ID :- 298,
» 3, Option ID :- 299,

« 4, Option ID :- 300,
Answer Given:- 2, Option ID : -298
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Question ID:- 76

Which one of the following could be an indication of mental illness among children ?

(1) Passive Learning
(2) Attention deficit
(3) Poor attendance
(4)

4 Low academic achievement
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(1) TafeRa st

(2) = R FHH

(3) Eue Sufrfd

(4) < JfEer et
Options:-

«1, Option ID :- 301,

» 2, Option ID :- 302,

» 3, Option ID :- 303,

» 4, Option ID :- 304,

Answer Given:- 2, Option ID : -302
Question ID:- 77

What is the condition of ‘Large sized head’ in mental health among children ?
(1) Cretinism

(2) Hydrocephaly

(3) Megacephaly
(4)

4) Microcephaly

aTeTehi § HfEeh Trees 1 S’ w5 feafa wn e § 2

(1) SEamd

(2) ey

(3) ERTE

(4)  HATSHRITTHE
Options:-

«1, Option ID :- 305,
« 2, Option ID :- 306,
»« 3, Option ID :- 307,

« 4, Option ID :- 308,
Answer Given:- 2, Option ID : -306
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Question ID:- 78

The condition in which the child finds difficult in muscle control is
1) Dyslexia

3) Dysgraphia

(

(2) Dyspraxia

(

(4) Dyscalicula
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(1) Tewifwaan
(2) Teaufamn
(3) fewmniwma
(4) Teushdlgman
Options:-

«1, Option ID :- 309,

» 2, Option ID :- 310,

« 3, Option ID :- 311,

« 4, Option ID :- 312,

Answer Given:- 2, Option ID : -310
Question ID:- 79

What is “A D H D" with reference to Mental health of children ?
(1) Attendance Deficient High Disorder

(2) Attention Deficit High Disorder

(3) Attention Deficit Hyperactivity Disorder

(4) Attention Deficit Hyper Disability

Rl H AfEs @reed & e H, 'ADHD' &1 319 ® :

(1) o2y sfrfadz 7 fegendt

(2) o= efrfae o femanet

(3) 1w eftpfde srmufRiae fewsmEt

(4) 1M SThEe srW fequfafest
Options:-

«1, Option ID :- 313,
« 2, Option ID :- 314,
» 3, Option ID :- 315,

« 4, Option ID :- 316,
Answer Given:- 4, Option ID : -316

Question ID:- 80

What could be an example of ‘Community Learning Resource” ?
(1) Television

(2) Home

(3) School

(4) Post-Office
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(1) <efifasm

(2) =

(3) famEmer

(4) SR
Options:-

«1, Option ID :- 317,
» 2, Option ID :- 318,
»« 3, Option ID :- 319,

» 4, Option ID :- 320,
Answer Given:- 1, Option ID : -317

Subject : SOL_Q81-Q90_PRT26FEBSH1

Question ID:- 81

Who among the following teachers can be a good mentor ?
(1) Sh. Keshav have travelled across 12 countries.

(2) Sh. Mamtani has 30 years of teaching experience.
(3) Along with teaching experience of 15 years Smt-Chandra is loved most by her students.
(4) Mrs. Naidu is also a social worker.

=1 sremyent © 9, B T 98 TR (F=) 8 Tl § 2

(1) 4 9@ 7 12 9 1 A6 H 2

(2) St FHarEr 1 30 a9 @1 e ee §

(3) 15 ad & forero srera o W St <=1 1 foranef wed e 0 #d 2
(4) et Frrg Uk T st off €

Options:-

«1, Option ID :- 321,
« 2, Option ID :- 322,
» 3, Option ID :- 323,

« 4, Option ID :- 324,
Answer Given:- 3, Option ID : -323

Question ID:- 82

Which of the following teacher will prove to be a good team builder ?
(1) Mr.Verma is very jovial.

(2) Mr. Dharma successfully runs hobby club.

(3) Sh. Dhakad has good arguing ability.

(4) Mr. Kapde has a good convincing ability.
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Options:-

«1, Option ID :- 325,

» 2, Option ID :- 326,

« 3, Option ID :- 327,

» 4, Option ID :- 328,

Answer Given:- 4, Option ID : -328
Question ID:- 83

The teacher as an instructor need not have the ability of
(1) Using easy language

(2) Working cooperatively

(3) Loud voice

(4) Using a language understandable by students

Fewmer o w9 H T Torares | A §1 & 2 SRl T8l © 2
(1) ST ST 2 IR

Options:-

«1, Option ID :- 329,
« 2, Option ID :- 330,
» 3, Option ID :- 331,

« 4, Option ID :- 332,
Answer Given:- 3, Option ID : -331

Question ID:- 84

A transformative teacher leader is not expected to bring desirable changes in whom ?
(1) Self

(2) Teacher colleagues

(3) Principal

(4) Parents
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(1) =4 |

Options:-

«1, Option ID :- 333,

» 2, Option ID :- 334,

» 3, Option ID :- 335,

» 4, Option ID :- 336,

Answer Given:- 4, Option ID : -336
Question ID:- 85

For vision building among teachers which one of the following helps the most ?
(1) History

(2) Philosophy

(3) Science

(4) Political Science

forerepl o1 wfas g1 99 § = 8 § 9 U gaifis geE w3 © 2
(1) faer

) TR
3) fagm

4) TSI v

(2
(:
(

Options:-

«1, Option ID :- 337,
« 2, Option ID :- 338,
» 3, Option ID :- 339,

« 4, Option ID :- 340,
Answer Given:- 2, Option ID : -338

Question ID:- 86

Which one of the following may not be an indicator of a developed school ?
(1) Large number of students in a school

(2) Results of students

(3) Classroom activities
(4)

4 Performance of teachers

41 of 88 07-03-2023, 22:53


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Response Sheet https://kvsexam26feb23s1.cbtexam.in/Candidate/ResponseSheet.aspx...

1 § 8 & s, % T e o S 12 81 Sehdl 2

Options:-

«1, Option ID :- 341,

» 2, Option ID :- 342,

» 3, Option ID :- 343,

» 4, Option ID :- 344,

Answer Given:- 2, Option ID : -342
Question ID:- 87

As per one view, a tool to kill the creativity of learners in school is
(1) Teachers

2) Co-learners

3) School activities

4)  School bell and the time-table

U A STIER, e H ATl S G S hiA T8 T © ?
(1) foerr

Options:-

«1, Option ID :- 345,
« 2, Option ID :- 346,
» 3, Option ID :- 347,

=« 4, Option ID :- 348,
Answer Given:- 1, Option ID : -345

Question ID:- 88

Which one of the following activities should be avoided during school assembly ?
(1) Yogasan

(2) Checking of proper school uniform

(3) Punishment to late comers
(4)

4 Light exercises

42 of 88 07-03-2023, 22:53


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Response Sheet https://kvsexam26feb23s1.cbtexam.in/Candidate/ResponseSheet.aspx...

WA Shell 991 % 4, e 8 | e & fdfafa 9 a=e =fe ?

Options:-

«1, Option ID :- 349,

» 2, Option ID :- 350,

»« 3, Option ID :- 351,

« 4, Option ID :- 352,

Answer Given:- 3, Option ID : -351
Question ID:- 89

At primary school level which type of assessment has more chances of failing ?
(1) Peer evaluation

(2) Self evaluation

(3) Formative evaluation

(4) External evaluation

Options:-

«1, Option ID :- 353,
« 2, Option ID :- 354,
» 3, Option ID :- 355,

« 4, Option ID :- 356,
Answer Given:- 3, Option ID : -355

Question ID:- 90

Who can give a reliable opinion about the progress of primary school children ?
(1) Experts from nearby hospital

(2) Parents of children

(3) Psychologists from a nearby health centre

(4)

4)  Persons living just around the school
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Options:-

«1, Option ID :- 357,
» 2, Option ID :- 358,
» 3, Option ID :- 359,

» 4, Option ID :- 360,
Answer Given:- 2, Option ID : -358

Subject : PE_Q91-Q100_PRT26FEBSH1
Question ID:- 91

What would have happened if there were no schools ? Choose the best option :
(1) There would not have been science and technology.

(2) We would have remained uncivilized.

(3) Violence would have prevailed everywhere.

(

4)  There would not have been all round development of human beings.

e F B A1 1 B 2 HaroH fosrey gy
(1) Tom SR qekiet 7 8 |

(2) B\ Y E wd

(3) =N o & g |

(4) HHE] o1 gaig faemE 7 2E
Options:-

«1, Option ID :- 361,
» 2, Option ID :- 362,
» 3, Option ID :- 363,

« 4, Option ID :- 364,
Answer Given:- 4, Option ID : -364

Question ID:- 92

Who was the chairman of NEP - 2020’s final draft committee ?
(1) K. Subramaniam

(2) K. Kasturirangan

(3) Dharmendra Pradhan

(4) Shaktikant Das
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(1) <. gemEiEE

(2) <h. FEOCEH

(3) == yuM

(4) ifeheRia ™
Options:-

«1, Option ID :- 365,
» 2, Option ID :- 366,
» 3, Option ID :- 367,
» 4, Option ID :- 368,

r Given:- 2, Option ID : -366

What
(1)

Answe

Question ID:- 93

is covered under foundational numeracy ?

Addition, Subtraction, Division, Multiplication

Addition, Subtraction, Division, Multiplication and Basic Algebra
Addition, Subtraction, Division, Multiplication and Basic Geometry
Only Addition and Subtraction

TS TR () § - e § 2

(1) i, =, O,

(2) SirE, S, IO, HRT g At s
(3) ST, W=, IO, STAT A2 FFAAET SfE
(4) HE g iR w2

Options:-

«1, Option ID :- 369,
« 2, Option ID :- 370,
« 3, Option ID :- 371,
« 4, Option ID :- 372,

r Given:- 1, Option ID : -369

What
(1)

(2)
(3)
(4)

45 of 88

Question ID:- 94

is the basic spirit of the concept of ‘Learning for all’ ?

Implementing compulsory education

To set minimum levels of learning

All children learn something important in schools at primary school level

To have better expectations from schools
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Options:-

«1, Option ID :- 373,

» 2, Option ID :- 374,

» 3, Option ID :- 375,

» 4, Option ID :- 376,

Answer Given:- 1, Option ID : -373
Question ID:- 95

Why do we have compulsory education at elementary level ?
(1) It (education) makes child a man.

(2) Itis free.

(3) Itisa tool to rule the people.
(4)

4 It is a constitutional right of children.

wfes T R e stfamd #= §?

(1) = (Toren) =reme %1 57 A & |
(2) u8 e )

(3) UE AT T IEH HH H TH SR |
(4) % AEAh| 1 Ueh Haue Afsn 21
Options:-

«1, Option ID :- 377,
« 2, Option ID :- 378,
« 3, Option ID :- 379,

« 4, Option ID :- 380,
Answer Given:- 4, Option ID : -380

Question ID:- 96

Which one of the following is not a child right ?
(1) Free and compulsory elementary education
(2) Secure environment

(3) Choice of school
(4)

4 Fear free family environment
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Options:-

«1, Option ID :- 381,
» 2, Option ID :- 382,
» 3, Option ID :- 383,

» 4, Option ID :- 384,
Answer Given:- 4, Option ID : -384

Question ID:- 97

What does the idea of Operation Black Board (OBB) imply ?

(1) Providing black boards in all classes

(2) To have all boards in classrooms of black colour only

(3) Ascertaining some minimum infrastructure facilities in all primary schools
(4)

4) To provide 4% of GDP to primary schools

S9YH T &S (OBB) i STIERN § 31 deqd & 2

(1) | sened § wmye o

) AT hamst | SrSt @ we T & e

3) T YEE Whel § F =gAan SEE giawrt g we
4)  UEHd ThAl 1 4% SIS S

2

(
(
(

Options:-

«1, Option ID :- 385,
« 2, Option ID :- 386,
« 3, Option ID :- 387,

« 4, Option ID :- 388,
Answer Given:- 3, Option ID : -387

Question ID:- 98

For developing which one of the following documents, a nation wide survey was conducted for
the first time after independence ?
(1) NEP - 2020

(2) NPE - 1986
(3) NCF - 2005
(49) NCFTE
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AT % &G Teel an e § & FF 3 srdEs w1 faeiad s vy angedt wEerr T e ?
(1) NEP - 2020

(2) NPE - 1986
(3) NCF - 2005
(4) NCFTE
Options:-

«1, Option ID :- 389,

» 2, Option ID :- 390,

» 3, Option ID :- 391,

« 4, Option ID :- 392,

Answer Given:- 2, Option ID : -390
Question ID:- 99

Which one of the following is not the main principle of curriculum construction ?
(1) Need based

(2) Subject centredness

(3)  Flexibility
(4)

4) Totality of experiences

=1 & | 9 1 gresEt i w5 ygE fagi 1§ 2
(1) SAE=H TR

(2) foua Ffzzm

(3) wHIETH

(4)  SAA9El sl FHIA
Options:-

«1, Option ID :- 393,
« 2, Option ID :- 394,
» 3, Option ID :- 395,

« 4, Option ID :- 396,
Answer Given:- 2, Option ID : -394

Question ID:- 100

In which one of the following curricular areas parents may be least awake ?
(1) Aims of Education

(2) Teaching Subjects

(3) Teaching Methods

(4) Techniques of evaluation.
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(1) Toren & 2w
(2) HR SH A fas
(3) Toramor fafyr
(4) HeHIR I Tehrilch

Options:-

«1, Option ID :- 397,
» 2, Option ID :- 398,
» 3, Option ID :- 399,

» 4, Option ID :- 400,
Answer Given:- 3, Option ID : -399

Subject : HINDI_Q101-Q120_PRT26FEBSH1

Question ID:- 101

Frefefiaa ey it SarTyaes UgeRt SHUX TR U9A i Ueieh T oiiau

F® AT for i sHfere sfvem 7Ed § fF 39d ae-a8 Hers el ) o fean 81 seifer fomm
R ST BT ST STk el STdl & | 9 SIIdeh el o s5awrel ¥ §R HaR &1 el § 7w foran s gaar
&1 @ s A el skt ae < fae o s e afess adae fava s & R €1 fave @ sy
foreprar, e 3iiT it 29 & gfran = fasrs qen fasfaa Yoot 2 grr steafasiag 9 w9y sHH
I TEeaTsHE 4 7Y faer &l 5 fem €1 om: fagm &6 aifiyemy M @ 5= % fau fava srawen § ofiad
B | TA FEE § gl i g1 I 2t 3R fage SR weem & e o 99 S|

fogm s1fvemg Feem & Feis 9 99 S 9
(1) SFHR 9 &R off o7 2 smay

(2) TR <9 ! e R S

(3) TN Rl TS WHI BT S

(4) 1 orEEen § =iyl it &g whT S
Options:-

«1, Option ID :- 401,
« 2, Option ID :- 402,
« 3, Option ID :- 403,

» 4, Option ID :- 404,
Answer Given:- 4, Option ID : -404

Question ID:- 102
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frefefiaa ey it SarUaes UgeRt SHUX ITUTRA U9H i Ueieh St gIf g

Fo @t fomr i safee sifvyem 7 § fF s 9398 ders oei w9 e €)1 seitfer fomm
R T SIUARI 1 S el Sl @ | 9 9Iae a2l & sRdia ¥ 9R 4R &1 fiel § 9= foran s gehar
# 1 @ s A e kit ae < faem o s e afess adue fava s % v €1 fave @ sy
ferepra, e iR iR E9il gl = fasrs qen farfaa ot < gr1 ereafasmfam S9i & W sHH
I Heeararien 7 39 foshr i 1 e §1 of: foam = afiyeny 819 9 s= & fou fave sraen § gfteds
A BT | A e § el i <ie wHw 2t SR fame s1faeny wEeH % sheis 9 §" S |

gforam =t < ferde aftomg 2
(1) =T

(2) e

(3) adHm fora sxaRn

(4) HHASE FHSNA
Options:-

»1, Option ID :- 405,
» 2, Option ID :- 406,
» 3, Option ID :- 407,
» 4, Option ID :- 408,
Answer Given:- 3, Option ID : -407

Question ID:- 103

frefefiaa ey st SarUaes UgeRt SHUX JMUTRA U9H ol Ueieh S gifag

Fo @t famr i safee sifiem T § 6 0 as-98 Hers s 1 9 e €)1 seitfe fomm
o ST SIUART 1 ST el STl € | 37 9 ef@ri & Sedel ¥ 9N R &1 foel § 7= foran s g
? 1 < S A e w9 < faem &% #R e dfew aaae fave e % #R €1 fave w1 s
ferepma, e iR iR 29t gt = fass qen fasrfaa dofiamet <9 gr1 sreafasrfag 9 | wee sHm
1 HecEien 3 379 fowr i 5= fo 21 om: fagm =i sy € | a9 o fou fava syaen § ofigd
A BT | T e H gfuER] i <ie wHw 2l SR fame ey wedn o Feis 9 o9 S |

o =l el T E -

(1) HFE

(2) = SER S

(3) HIEATEH

(4) To=ri = faeh
Options:-

»1, Option ID :- 409,
» 2, Option ID :- 410,
« 3, Option ID :- 411,

=« 4, Option ID :- 412,
Answer Given:- 2, Option ID : -410

Question ID:- 104
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frefefiaa ey it SarUaes UgeRt SHUX ITUTRA U9H i Ueieh St gIf g

Fo @t fomr i safee sifvyem 7 § fF s 9398 ders oei w9 e €)1 seitfer fomm
R T SIUARI 1 S el Sl @ | 9 9Iae a2l & sRdia ¥ 9R 4R &1 fiel § 9= foran s gehar
# 1 @ s A e kit ae < faem o s e afess adue fava s % v €1 fave @ sy
ferepra, e iR iR E9il gl = fasrs qen farfaa ot < gr1 ereafasmfam S9i & W sHH
I Heeararien 7 39 foshr i 1 e §1 of: foam = afiyeny 819 9 s= & fou fave sraen § gfteds
A BT | A e § el i <ie wHw 2t SR fame s1faeny wEeH % sheis 9 §" S |

e @ fas =1 stfery == AT 2 2
(1) HeRa 3TE| i 5 o % HRY
) THH SFHFEIA & R

) 3 W I A 2R F ERY

) HIS T A 9EAT 6 HRY

(2
(3
(4
Options:-

«1, Option ID :- 413,

» 2, Option ID :- 414,

» 3, Option ID :- 415,

« 4, Option ID :- 416,

Answer Given:- 1, Option ID : -413

Question ID:- 105

Frfafea Ty &t SYds UgeRt SHUT ST U9 &l Heleh ST aifag

Fo @ famr @i safan sifvem wEd § fF 91 9e-a dere orei @ 9 e 81 swEife fasm
1 HITTah BT T ST hel STl € | 37 Saeh SRl o $eaa § 9 H6R o1 el § 7w fopan < gahar
21 < S ot g w5t 47 e T o w9 sfen aqar fave sree o R g fave 1 st
forerr, e @iz erie 2t § gfn w5 fasrse o fassfan Gefam 29 gr1 sreafam g 39 @ gy M
I TeearHien 7 39 fowr 5 5 e ¥ o fagm =6 afieny 89 9 5= & fo fava sremen o ftad
AT G | A e B g i grg WEnd gl SR fase SAfeny e 3 s 9 o9 S |

ey ¥ faepr frweR! s e ?
(1) SAHR <N I Gl

(2) TRIE < i feafq =

(3) aur fergersgereen =1

(4) SHR SR TS % o= HT Hee g
Options:-

«1, Option ID :- 417,

« 2, Option ID :- 418,

»« 3, Option ID :- 419,

» 4, Option ID :- 420,
Answer Given:- 3, Option ID : =419

Question ID:- 106
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"SIfehu &1 e, hefde i Farl ' A =1 foF R i § 7

(1) s

(2) ST, AET

(3) wEHTEg @

(4) gl o
Options:-

«1, Option ID :- 421,
» 2, Option ID :- 422,
» 3, Option ID :- 423,
» 4, Option ID :- 424,
Answer Given:- 4, Option ID : -424

Question ID:- 107

"] ® R A E
(1) e
(2) e
(3) fre&w
(4 =
Options:-

«1, Option ID :- 425,
« 2, Option ID :- 426,
= 3, Option ID :- 427,

= 4, Option ID :- 428,
Answer Given:- 4, Option ID : -428

Question ID:- 108

‘gt @t ufgen | @ gt ufen FE W = Sed o ?
(1) FH g oAt

(2) =8 90 | Ia & weHdr oA

(3) IUH UF W FHSR o

(4) = FE FH ITeey TE of

Options:-

«1, Option ID :- 429,
= 2, Option ID :- 430,
» 3, Option ID :- 431,

= 4, Option ID :- 432,
Answer Given:- 2, Option ID : -430

Question ID:- 109
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“ferwr, gy, eRfde’ Tmes urEl w1 faa o e | feen T 82

(1) o= =i g

(2) T % Hel-He A5
(3) TUT S T

(4) BRI T
Options:-

«1, Option ID :- 433,
» 2, Option ID :- 434,
» 3, Option ID :- 435,
» 4, Option ID :- 436,
Answer Given:- 1, Option ID : -433

Question ID:- 110

‘Fegare’ i E
(1) EREIE s==
(2) THIEE WG

(3) fofksn T sEmE
(4) smuE. st
Options:-

«1, Option ID :- 437,
» 2, Option ID :- 438,
= 3, Option ID :- 439,

= 4, Option ID :- 440,
Answer Given:- 1, Option ID : -437

Question ID:- 111

"ie et ST B STe STHHE 91g i e SuL ¢ S o 1 S 3 1 A6l sred = of

(1) o1g AR ot

(2) =S Al ot

(3) U Ud UH € wg ot
(4) o g oAt

Options:-

«1, Option ID :- 441,
= 2, Option ID :- 442,
» 3, Option ID :- 443,

= 4, Option ID :- 444,
Answer Given:- 3, Option ID : -443

Question ID:- 112
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»1, Option ID :- 445,

» 2, Option ID :- 446,

« 3, Option ID :- 447,

» 4, Option ID :- 448,

Answer Given:- 2, Option ID : -446

Question ID:- 113

(1) ey fag

(2) s fHE

(3) TH =&

(4) HieTere fgaal
Options:-

«1, Option ID :- 449,
» 2, Option ID :- 450,
= 3, Option ID :- 451,

= 4, Option ID :- 452,
Answer Given:- 1, Option ID : -449
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Question ID:- 114

(1) = i & 9= &% fero

(2) @eH & fag

(3) 9T | &= % fag

(4) Wl 9 5=4 F fau
Options:-

»1, Option ID :- 453,
= 2, Option ID :- 454,
» 3, Option ID :- 455,

= 4, Option ID :- 456,
Answer Given:- 2, Option ID : -454

“yTe] | Well FEdiel’ Ao =1 o SER T FaRy fh 3% % d=d 7 U il S Hi UFS o 2

Question ID:- 115
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(1) HHR
(2) 3EF
(3) S
(4) HTEd
Options:-

«1, Option ID :- 457,
» 2, Option ID :- 458,
» 3, Option ID :- 459,
» 4, Option ID :- 460,
Answer Given:- 2, Option ID : -458

Question ID:- 116

Trefafas 5§ forg wree | o wfy 7= €
(1) faEo

(2) @Emfd

(3) =W

(4 @feds
Options:-

«1, Option ID :- 461,
« 2, Option ID :- 462,
= 3, Option ID :- 463,

= 4, Option ID :- 464,
Answer Given:- 2, Option ID : -462
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Question ID:- 117

FHYRT THTE & SEEI & ¢
(1) s
(2) EEffEd
(3) EAFHH
(4) HIEHTEH
Options:-

»1, Option ID :- 465,
= 2, Option ID :- 466,
» 3, Option ID :- 467,

= 4, Option ID :- 468,
Answer Given:- 1, Option ID : -465

Question ID:- 118
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Frfafed wes 7l § deag-agvE &1 35T T €

(1) S-S
(2 FR-FG

(3) HIB-HTS
(4) foA-eam

Options:-

«1, Option ID :- 469,
» 2, Option ID :- 470,
« 3, Option ID :- 471,
» 4, Option ID :- 472,
Answer Given:- 4, Option ID : -472

Question ID:- 119

Ffafas fadmmed - § o5 §

(1)  Sa-afedm

(2) o<

(3) STIWI-IF

(4) STH-FCH
Options:-

«1, Option ID :- 473,
« 2, Option ID :- 474,
= 3, Option ID :- 475,

= 4, Option ID :- 476,
Answer Given:- 3, Option ID : -475

Question ID:- 120

Ty 1 g foermn’ geet o 9 o1

(1) S SARH I §HF &A1

(2) 93 I HEEE FA

(3) ¥ =l gy fuerr

(4) e SAEHT T H TS
Options:-

«1, Option ID :- 477,
= 2, Option ID :- 478,
»« 3, Option ID :- 479,

« 4, Option ID :- 480,
Answer Given:- 2, Option ID : -478

Subject : ENGLISH_Q121-Q140_PRT26FEBSH1

Question ID:- 121
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Read the passage given below and answer the questions that follow.
Passage

One major problem that faces the world today is the rapid growth of population, often
referred to as population explosion. Until about 800 AD, the world’s population stayed below 200
million. Since then it has risen dramatically. The rise has been the greatest in the 20th century.
Experts predict that by 2020, there will be about ten billion people, causing serious problems of
hunger, overcrowding and environmental pollution.

This enormous increase of population is due to better food, better hygiene and, above all, the
advances made in medicine. Rapid developments in modern medicine have conquered many diseases
and consequently the death rate has decreased. Until the beginning of the 19th century, most
people died before the age of 50. Today in developed countries, the average lifespan has risen to
more than 70 years. Thomas Malthus, a British mathematician and economist, went to the extent
of declaring that, if unchecked, human population would grow in geometric progression (i.e.l, 2,
4, 8 and so on) when food production could only grow in arithmetic progression (i.e. 1, 2, 3, 4 and
so on). He was, of course, very pessimistic,

India’s population has risen drastically since 1950 : the population today is 2.5 times as large
as it was in 1950. It is rising by 2.9 percent per year, and in consequence, every year an extra 26
million people have to be provided for. The government is taking measures to curb the population
growth and a large percentage of people practise birth control. Recent advances in farming have
made the country productive enough to feed the present population. Failure to arrest further
increase of population may have disastrous effects, though there seems to be some truth in the
statement made by Julian Simon of the University of Maryland : according to him, although
population growth means there will be more mouths to feed, there will be “more hands to work
and more brains to think.”

What is the effect of modern medicine on population ?
(1) It has led to decrease in population.

(2) It has no effect on population.

(3) It has resulted in increase in population.

(4) Itis not related with population at alL

Options:-

«1, Option ID :- 481,
« 2, Option ID :- 482,
« 3, Option ID :- 483,

= 4, Option ID :- 484,
Answer Given:- 3, Option ID : -483

Question ID:- 122
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Read the passage given below and answer the questions that follow.
Passage

One major problem that faces the world today is the rapid growth of population, often
referred to as population explosion. Until about 800 AD, the world’s population stayed below 200
million. Since then it has risen dramatically. The rise has been the greatest in the 20th century.
Experts predict that by 2020, there will be about ten billion people, causing serious problems of
hunger, overcrowding and environmental pollution.

This enormous increase of population is due to better food, better hygiene and, above all, the
advances made in medicine. Rapid developments in modern medicine have conquered many diseases
and consequently the death rate has decreased. Until the beginning of the 19th century, most
people died before the age of 50. Today in developed countries, the average lifespan has risen to
more than 70 years. Thomas Malthus, a British mathematician and economist, went to the extent
of declaring that, if unchecked, human population would grow in geometric progression (ie.l, 2,
4, 8 and so on) when food production could only grow in arithmetic progression (i.e. 1, 2, 3, 4 and
so on). He was, of course, very pessimistic.

India’s population has risen drastically since 1950 : the population today is 2.5 times as large
as it was in 1950. It is rising by 2.9 percent per year, and in consequence, every year an extra 26
million people have to be provided for. The government is taking measures to curb the population
growth and a large percentage of people practise birth control. Recent advances in farming have
made the country productive enough to feed the present population. Failure to arrest further
increase of population may have disastrous effects, though there seems to be some truth in the
statement made by Julian Simon of the University of Maryland : according to him, although
population growth means there will be more mouths to feed, there will be “more hands to work
and more brains to think.”

Thomas Malthus predicted...
(1) steep rise in population
(2) decrease in population
€

)  that population will remain constant
(4) that population will stabilise in due course of time.

Options:-

«1, Option ID :- 485,
» 2, Option ID :- 486,
« 3, Option ID :- 487,

» 4, Option ID :- 488,
Answer Given:- 1, Option ID : -485

Question ID:- 123
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Read the passage given below and answer the questions that follow.
Passage

One major problem that faces the world today is the rapid growth of population, often
referred to as population explosion. Until about 800 AD, the world’s population stayed below 200
million. Since then it has risen dramatically. The rise has been the greatest in the 20th century.
Experts predict that by 2020, there will be about ten billion people, causing serious problems of
hunger, overcrowding and environmental pollution.

This enormous increase of population is due to better food, better hygiene and, above all, the
advances made in medicine. Rapid developments in modern medicine have conquered many diseases
and consequently the death rate has decreased. Until the beginning of the 19th century, most
people died before the age of 50. Today in developed countries, the average lifespan has risen to
more than 70 years. Thomas Malthus, a British mathematician and economist, went to the extent
of declaring that, if unchecked, human population would grow in geometric progression (ie.l, 2,
4, 8 and so on) when food production could only grow in arithmetic progression (i.e. 1, 2, 3, 4 and
so on). He was, of course, very pessimistic.

India’s population has risen drastically since 1950 : the population today is 2.5 times as large
as it was in 1950. It is rising by 2.9 percent per year, and in consequence, every year an extra 26
million people have to be provided for. The government is taking measures to curb the population
growth and a large percentage of people practise birth control. Recent advances in farming have
made the country productive enough to feed the present population. Failure to arrest further
increase of population may have disastrous effects, though there seems to be some truth in the
statement made by Julian Simon of the University of Maryland : according to him, although
population growth means there will be more mouths to feed, there will be “more hands to work
and more brains to think.”

On the basis of his theory of population, Malthus can be characterised as...
(1) a pessimist
(2) an optimist
3

) acynic
(4) a crazy person

Options:-

«1, Option ID :- 489,
« 2, Option ID :- 490,
« 3, Option ID :- 491,

» 4, Option ID :- 492,
Answer Given:- 1, Option ID : -489

Question ID:- 124
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Read the passage given below and answer the questions that follow.
Passage

One major problem that faces the world today is the rapid growth of population, often
referred to as population explosion. Until about 800 AD, the world’s population stayed below 200
million. Since then it has risen dramatically. The rise has been the greatest in the 20th century.
Experts predict that by 2020, there will be about ten billion people, causing serious problems of
hunger, overcrowding and environmental pollution.

This enormous increase of population is due to better food, better hygiene and, above all, the
advances made in medicine. Rapid developments in modern medicine have conquered many diseases
and consequently the death rate has decreased. Until the beginning of the 19th century, most
people died before the age of 50. Today in developed countries, the average lifespan has risen to
more than 70 years. Thomas Malthus, a British mathematician and economist, went to the extent
of declaring that, if unchecked, human population would grow in geometric progression (i.e.l, 2,
4, 8 and so on) when food production could only grow in arithmetic progression (i.e. 1, 2, 3, 4 and
so on). He was, of course, very pessimistic.

India’s population has risen drastically since 1950 : the population today is 2.5 times as large
as it was in 1950. It is rising by 2.9 percent per year, and in consequence, every year an extra 26
million people have to be provided for. The government is taking measures to curb the population
growth and a large percentage of people practise birth control. Recent advances in farming have
made the country productive enough to feed the present population. Failure to arrest further
increase of population may have disastrous effects, though there seems to be some truth in the
statement made by Julian Simon of the University of Maryland : according to him, although
population growth means there will be more mouths to feed, there will be “more hands to work
and more brains to think.”

According to the passage, which of the two statements is True/False ?
(A) India’s population is rising at the rate of 2.9 percent per year.
(B) Indian people are not taking to birth control methods at all.

(1) Both are True

(2) Both are False

(3)  (A)is True but (B) is False

(4) (A) is False but (B) is True
Options:-

«1, Option ID :- 493,
« 2, Option ID :- 494,
» 3, Option ID :- 495,

» 4, Option ID :- 496,
Answer Given:- 3, Option ID : -495

Question ID:- 125
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Read the passage given below and answer the questions that follow.
Passage

One major problem that faces the world today is the rapid growth of population, often
referred to as population explosion. Until about 800 AD, the world’s population stayed below 200
million. Since then it has risen dramatically. The rise has been the greatest in the 20th century.
Experts predict that by 2020, there will be about ten billion people, causing serious problems of
hunger, overcrowding and environmental pollution.

This enormous increase of population is due to better food, better hygiene and, above all, the
advances made in medicine. Rapid developments in modern medicine have conquered many diseases
and consequently the death rate has decreased. Until the beginning of the 19th century, most
people died before the age of 50. Today in developed countries, the average lifespan has risen to
more than 70 years. Thomas Malthus, a British mathematician and economist, went to the extent
of declaring that, if unchecked, human population would grow in geometric progression (ie.l, 2,
4, 8 and so on) when food production could only grow in arithmetic progression (i.e. 1, 2, 3, 4 and
so on). He was, of course, very pessimistic.

India’s population has risen drastically since 1950 : the population today is 2.5 times as large
as it was in 1950. It is rising by 2.9 percent per year, and in consequence, every year an extra 26
million people have to be provided for. The government is taking measures to curb the population
growth and a large percentage of people practise birth control. Recent advances in farming have
made the country productive enough to feed the present population. Failure to arrest further
increase of population may have disastrous effects, though there seems to be some truth in the
statement made by Julian Simon of the University of Maryland : according to him, although
population growth means there will be more mouths to feed, there will be “more hands to work
and more brains to think.”

Julian Simon’s approach to population growth...

(1) supports Malthus” hypothesis on population growth
(2) contradicts Malthus’ hypothesis on population growth
(3) takes no position on population growth

(4) does not talk about the population issue at all.

Options:-

«1, Option ID :- 497,
» 2, Option ID :- 498,
« 3, Option ID :- 499,

« 4, Option ID :- 500,
Answer Given:- 4, Option ID : -500

Question ID:- 126

Rearrange the parts in correct order to make meaningful sentences.
(@) atall

(b) threw stones

() the naughty child

(d) passing cars

(1) (c).(b).(a),(d)

(2 (d)(c),(b),(a)

(3)  (b),(c).(d).(a)

(4)  (a).(b).(c).(d)
Options:-

«1, Option ID :- 501,
« 2, Option ID :- 502,
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= 3, Option ID :- 503,

» 4, Option ID :- 504,

Answer Given:- 1, Option ID : -501
Question ID:- 127

Rearrange the parts in correct order to make meaningful sentences.
(a) in international tournaments

(b) has been doing well

(c) the Indian cricket team

(d) apart from some occasional failures,

(1) (c).(d).(a),(b)

(2)  (d).(c).(b).(a)

(3)  (a).(b),(c),(d)

(4)  (b).(c).(d).(a)
Options:-

«1, Option ID :- 505,
« 2, Option ID :- 506,
« 3, Option ID :- 507,

= 4, Option ID :- 508,
Answer Given:- 2, Option ID : -506

Question ID:- 128

Fill in the blanks with correct prepositions.

The frightening sound came from the river,
(1) across

(2) off

(3) round

(4) over
Options:-

«1, Option ID :- 509,
» 2, Option ID :- 510,
« 3, Option ID :- 511,

» 4, Option ID :- 512,
Answer Given:- 1, Option ID : -509

Question ID:- 129

Fill in the blanks with correct prepositions.

The foreigner spoke me in his native language.
(1) of

(2) with

(3) to

(4) for
Options:-

=1, Option ID :- 513,
« 2, Option ID :- 514,
« 3, Option ID :- 515,
= 4, Option ID :- 516,
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Answer Given:- 3, Option ID : -515
Question ID:- 130

Identify the correct tense forms for the underlined words in the given sentences.

When will you be returning the book ?

(1) Simple Future

(2) Future Continuous
(3) Future Perfect

(4) Simple Present
Options:-

«1, Option ID :- 517,
= 2, Option ID :- 518,
= 3, Option ID :- 519,

« 4, Option ID :- 520,
Answer Given:- 2, Option ID : -518

Question ID:- 131

Identify the correct tense forms for the underlined words in the given sentences.

He has returned all the books to the library.
(1) Past Perfect

(2) Simple Present

(3) Present Perfect
(4)

4 Present Perfect Continuous

Options:-

«1, Option ID :- 521,
« 2, Option ID :- 522,
» 3, Option ID :- 523,

= 4, Option ID :- 524,
Answer Given:- 3, Option ID : -523

Question ID:- 132

Identify the part which contains an error.
The highway robber/killed/the innocent traveller/by a hatchet.

() (2) (3) (4)

Options:-

=1, Option ID :- 525,
» 2, Option ID :- 526,
» 3, Option ID :- 527,

» 4, Option ID :- 528,
Answer Given:- 4, Option ID : -528

Question ID:- 133

Identify the part which contains an error.
The young lady/speaks/ fluent English,/isn’t it?
(1) (2 (3) 4

Options:-
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=1, Option ID :- 529,
« 2, Option ID :- 530,
« 3, Option ID :- 531,

« 4, Option ID :- 532,
Answer Given:- 4, Option ID : -532

Question ID:- 134

Choose the word nearest in meaning to the given word.
RECOLLECT

(1) recall

(2) ponder

(3) meditate

(4) forget
Options:-

»1, Option ID :- 533,
» 2, Option ID :- 534,
« 3, Option ID :- 535,

= 4, Option ID :- 536,
Answer Given:- 2, Option ID : -534

Question ID:- 135

Choose the word nearest in meaning to the given word.
ABHORRENT

(1) stinking

(2) violent

(3) hateful
(

4) jealous

Options:-

«1, Option ID :- 537,

« 2, Option ID :- 538,

» 3, Option ID :- 539,

» 4, Option ID :- 540,

Answer Given:- 2, Option ID : -538
Question ID:- 136

Choose the words opposite in meaning to the given words.
DOCILE

(1) obedient

(2)  wilful

(3) wviolent

(4) indifferent

Options:-

«1, Option ID :- 541,
= 2, Option ID :- 542,
» 3, Option ID :- 543,

« 4, Option ID :- 544,
Answer Given:- 1, Option ID : -541
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Question ID:- 137

Choose the words opposite in meaning to the given words.
PROFANE

(1) saintly
2) transparent
3

(

(3) sacred

(4) contaminated
Options:-

»1, Option ID :- 545,
» 2, Option ID :- 546,
= 3, Option ID :- 547,

= 4, Option ID :- 548,
Answer Given:- 1, Option ID : -545

Question ID:- 138

Identify the part of speech of the underlined word.
Since the day I met him last, [ haven’t seen him.

(1) Adjective

(2) Preposition

(3) Conjunction

(4) Noun
Options:-

=1, Option ID :- 549,
« 2, Option ID :- 550,
» 3, Option ID :- 551,

« 4, Option ID :- 552,
Answer Given:- 3, Option ID : -551

Question ID:- 139

Change the following sentence from Active Voice to Passive Voice.
The gardener gave me a red flower.

(1) A red flower was being given to me by the gardener.

(2) The gardener was given a red flower by me.

(3) A red flower was given to me by the gardener.

(4) A red flower is being given to me by the gardener.

Options:-

»1, Option ID :- 553,
« 2, Option ID :- 554,
» 3, Option ID :- 555,

=« 4, Option ID :- 556,
Answer Given:- 3, Option ID : -555

Question ID:- 140
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Identify the clause of the underlined part in the given sentence.

The doctor is hopeful that the patient will recover soon.

(1)  Noun Clause

(2) Adjective Clause

(3) Adverb Clause

(4) Principal Clause
Options:-

«1, Option ID :- 557,
« 2, Option ID :- 558,
« 3, Option ID :- 559,

« 4, Option ID :- 560,
Answer Given:- 3, Option ID : -559

Subject : MATHS_Q141-Q160_PRT26FEBSH1

Question ID:- 141

Write the smallest 5-digit number using digits 2, 3, 5, 8 and 9 which is divisible by 9 :

(1) 23589
(2) 32589
(3) 53289
(4) 98532

31 2,3, 5,8 3T 9 N YAN ik 5-3ih i Bt © D e, 5 9 F fonnfea &, &

(1) 23589
(2) 32589
(3) 53289
(4) 98532
Options:-

«1, Option ID :- 561,
« 2, Option ID :- 562,
« 3, Option ID :- 563,

» 4, Option ID :- 564,
Answer Given:- 1, Option ID : -561

Question ID:- 142

The sum of the largest and the smallest 5-digit numbers formed by the digits 3,4, 0, 6, 5 is :

(1) 95886
(2) 68886
(3) 99486
(4) 34974
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i 3,4, 0, 6 35 F G4 5-27Hh1 i oS F TS a9 BT W Dl HENFAE

(1) 95886
(2) 68886
(3) 99486
(4) 34974
Options:-

»1, Option ID :- 565,
» 2, Option ID :- 566,
» 3, Option ID :- 567,
» 4, Option ID :- 568,
Answer Given:- 1, Option ID : -565

Question ID:- 143

The successor of a number is related to the predecessor in some way. The missing numbers in the
given pattern is :
2,5,.7,12, 19, 31,

(1) 40, 49
(2) 45, 65
(3) 43, 56
(4) 50, 81

e 1 STRad! qu ydad 9" H Uk YR § gefid € | fau ™ i29 F faew e €
2, 5,7, 12,19, 31,

!’

(1) 40, 49
(2) 45, 65
(3) 43, 56
(4) 50, 81
Options:-

»1, Option ID :- 569,
« 2, Option ID :- 570,
=« 3, Option ID :- 571,

= 4, Option ID :- 572,
Answer Given:- 4, Option ID : -572

Question ID:- 144

What digit would come in the place of * in the following multiplication ?
427) x (26) = 126392

)

—

2)
3)
4)

— e S —
O O =
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(427) x (2x6) =126392

(1) 2
(2 4
3) 6
(4) 9

Options:-

«1, Option ID :- 573,
« 2, Option ID :- 574,
= 3, Option ID :- 575,

= 4, Option ID :- 576,
Answer Given:- 4, Option ID : -576
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Question ID:- 145

(1) 45
) 72
(3) 120
4) 320

15 cm ¥ 1 Yo AEAHR Ferdk 1 85Fd (em2H) €

(1) 45
2 72
(3) 120
(4) 320
Options:-

«1, Option ID :- 577,
« 2, Option ID :- 578,
»« 3, Option ID :- 579,

» 4, Option ID :- 580,
Answer Given:- 1, Option ID : -577

The side face of a cuboid is a square having an area of 64 cm? and the longer edge in each of the
four rectangular faces is of length 15 cm. The area of each rectangular face (in cm?) is :

Teh ST %1 UI9d Thoteh aTiehi § el 5T AThel 64 cm? € 3 IR STHATER FeTh! o 98 (1L Tl e

Question ID:- 146
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How many line/lines of symmetry does the figure have ?

(1) 1
(2 2
3) 3
(4) Infinite
& T eyl | wufid YEnAa faa &7 2
1) 1
(2) 2
(3) 3
(4) 34
Options:-

«1, Option ID :- 581,
« 2, Option ID :- 582,
« 3, Option ID :- 583,

» 4, Option ID :- 584,
Answer Given:- 3, Option ID : -583

Question ID:- 147

Fractions Eré,llg , when written in increasing order are :
4 6 12 3
; 7 285
(]‘) A P B
12 3 4 6
B =222
3'4"6 12
7 532
(3) R i
12 6 4 3
532 7
(4) R T TS
6 4 3 12
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Options:-

»1, Option ID :- 585,

« 2, Option ID :- 586,

« 3, Option ID :- 587,

= 4, Option ID :- 588,

Answer Given:- 1, Option ID : -585

Question ID:- 148

)
4l— 21—IE—(:+i—iJ on simplification gives :
le s 5

10 2 10 1
() =1

(2 2

(3) 4

4) 6

Options:-

=1, Option ID :- 589,
« 2, Option ID :- 590,
» 3, Option ID :- 591,

= 4, Option ID :- 592,
Answer Given:- 2, Option ID : -590

Question ID:- 149
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Two plots of land have the same perimeter. One is square of side 24 m and the other is a rectangle
of length 28 m. The difference in their areas is :

(1) 10 sqm
(2) 12sq.m
(3) 16 sqm
(4 20sgm

Q1 A2 1 UfTHTY SRIeR § | U Wlle SRR § foreent sl 24 HieX § 991 G5 SR & a9 35! oS 28
TR 1 §HI % &Ihell o1 ST T

(1) 10 =9 Hi=x
(2) 12 77 HeX
(3) 16 = HieX
(4) 20 = Hi=x
Options:-

«1, Option ID :- 593,
« 2, Option ID :- 594,
» 3, Option ID :- 595,

» 4, Option ID :- 596,
Answer Given:- 3, Option ID : -595

Question ID:- 150

The cost of 40 packets of 12 pens is T 1680. The cost of 30 packets each containing 9 pens is :

(1) T 945
(2) T 1080
(3) T 1260
(4) T 1560

12 9 aret 40 Ui 1 e T 1680 B 130 MR i ydF H o g g €

(1) T 945
(2) T 1080
(3) T 1260
(4) T 1560
Options:-

«1, Option ID :- 597,
» 2, Option ID :- 598,
« 3, Option ID :- 599,

» 4, Option ID :- 600,
Answer Given:- 1, Option ID : -597

Question ID:- 151
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In an examination 95% of the candidates passed and 150 failed. The number of candidates who
appeared in the examination is :

(1) 2500
(2) 3000
(3) 3200
(4) 3500

T Tla H 95 %fanedt 3wl gu qen 150 faenedt T @ ) when § Fa fore famneft Suftum 22

(1) 2500
(2) 3000
(3) 3200
(4) 3500
Options:-

«1, Option ID :- 601,
« 2, Option ID :- 602,
« 3, Option ID :- 603,

» 4, Option ID :- 604,
Answer Given:- 2, Option ID : -602

Question ID:- 152

The number of 5 cm cubes which can be cut from a cube whose edge is 20 cm is :

(1) 4

2) 16
(3) 32
(4) 64

20 cm FI G ¥9 F 5 cm HR G I9 1 FIe S Thd ©, S 971§

(1) 4
(2) 16
(3) 32
(4) 64
Options:-

«1, Option ID :- 605,
« 2, Option ID :- 606,
»« 3, Option ID :- 607,

« 4, Option ID :- 608,
Answer Given:- 2, Option ID : -606

Question ID:- 153
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In a tank 2 m long, 1 m wide and 50 cm high, how many litres of milk can be stored ?

(1) 10
(2) 100

(3) 1,000
(4) 10,000

UF 3F S 2m @&, 1 m HE G991 50 em 91 8, 399 fopa et gur o oehan €2

(1) 10
(2) 100
(3) 1000
(4) 10,000
Options:-

«1, Option ID :- 609,
« 2, Option ID :- 610,
« 3, Option ID :- 611,

=« 4, Option ID :- 612,
Answer Given:- 2, Option ID : -610

Question ID:- 154

The sum of 21 +22+23+  +501s:
(1) 1275

(2) 1200

(3) 1100

(4) 1065

21+22+23+ +50 =1 I T :
(1) 1275

(2) 1200

(3) 1100

(4) 1065
Options:-

«1, Option ID :- 613,
= 2, Option ID :- 614,
« 3, Option ID :- 615,

» 4, Option ID :- 616,
Answer Given:- 4, Option ID : -616

Question ID:- 155
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It was Monday on 19th December 2022. What day it will be on 28th April 23 ?
(1) Friday

(2) Saturday
(3) Sunday
(4) Monday

19 fegwe 2022 = GHaR 911 28 #AUe 2023 &I HE A1 f&q 2 ?

(1) IHaR
(2) wfFER
(3) e
(4) EHER
Options:-

«1, Option ID :- 617,
» 2, Option ID :- 618,
« 3, Option ID :- 619,
» 4, Option ID :- 620,
Answer Given:- 1, Option ID : -617

Question ID:- 156

A liquid is to be kept in the range of 35°C to 40°C. The range in Fahrenheit scale is {It is given that,
180°C=100(F —32)} :

(1)  90°F —100°F

(2) 95°F—104°F

(3) 97°F—110°F

(4) 100°F—110°F

T T qerd wi 35°C § 40°C & URER § TEA1 § ) °F 8 uftey 2 {fezn e 2 6 180 C =100 (F-32} B)
(1)  90°F - 100°F

(2) 95°F - 104°F

(3) 97°F - 110°F

(4)  100°F - 110°F

Options:-

«1, Option ID :- 621,
« 2, Option ID :- 622,
»« 3, Option ID :- 623,

= 4, Option ID :- 624,
Answer Given:- 3, Option ID : -623

Question ID:- 157
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The sum of five consecutive multiples of 8 is 560. The smallest multiple is :

(1) 88
(2) 96

(3) 104
(4) 128

8 o i= SHENTA TOTST ol A1 560 | Hod B2l U €

(1) 88
(2) 96
(3) 104
(4) 128

Options:-

»1, Option ID :- 625,

» 2, Option ID :- 626,

« 3, Option ID :- 627,

» 4, Option ID :- 628,

Answer Given:- 2, Option ID : -626
Question ID:- 158

2m 5 cmis equal to:

(1) 25m
(2) 2.05m
(3) 2.005 m
(4) 0.25m

(1) 25m
(2) 2.05m
(3) 2.005m
(4) 0.25 m
Options:-

«1, Option ID :- 629,
= 2, Option ID :- 630,
« 3, Option ID :- 631,

« 4, Option ID :- 632,
Answer Given:- 2, Option ID : -630

Question ID:- 159

75 of 88 07-03-2023, 22:53


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

Respons

76 of 88

e

e Sheet

Preeti secured 35 marks out of 40 in Mathematics and 25 Marks out of 30 in Science :

(1) Performance in Mathematics is better than in Science.

2

4

ifa = 7ifor 5 40 § § 35 ik wrw o3 aen fomm 4 30 § § 25 3%y 5 | 1 369 ¢
) Tomm & wifora | st fean

2) v & foram o st R
)

)

Options:-
«1, Option ID :- 633,

» 2, Option ID :- 634,

« 3, Option ID :- 635,

» 4, Option ID :- 636,

Answer Given:- 3, Option ID : -635
Question ID:- 160

A Taxi charges T 40 for first 2 km and I 16 per km subsequently. The fare payable for a journey of

27 km is :
(1) T 432
(2) T 440
(3) T 450
(4) T 480

ek S T8t 2 km o Taq T 40 formn @il © 991 39 Uv=md Ul foharmiel o fag 2 16 =1 §1 27 km
FaR S oI e .

(1) T 432
(2) T 440
(3) T 450
(4) ¥ 480
Options:-

«1, Option ID :- 637,
» 2, Option ID :- 638,
« 3, Option ID :- 639,

« 4, Option ID :- 640,
Answer Given:- 2, Option ID : -638

Subject : EVS_Q161-Q180_PRT26FEBSH1

Question ID:- 161

Performance in Science is better than in Mathematics.

(2)
(3) Itis the same in both subjects.
(4) Data is insufficient to decide.

21 H U S fE
T SRS U FO Hal T8l S el
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Read the following statements and choose the correct answer :

(A) Polyester is a natural fibre.

B) Clothes made up of polyester fibre do not get wrinkles easily.
C) Polyester remains crisp and is easy to wash. |
D) Terylene is a popular polyester.

) Only (A) and (B)
2)  Only (A )( ) and (C)
3) Onlv (A), (B) and (D)
4) (B);( ) d (D)

Frfafed FoE1 #1 ufer sit T8 S| &1 9979 )
(A) TiCTURT U Wiephfash Lon &
(B) TUIfGTo= & &Ue H oErt ¥ e 781 ued |
(C) ifeTueeX ¥R @l & iR TReAdyd® gel Sl ¢ |
(D) el U Ay uifergey §1
(1) %= (A) IR (B)
(2) %A (A), (B) ¥R (O)
(3) A (A), (B) R (D)
(4) A (B), (C) I (D)
Options:-
«1, Option ID :- 641,
» 2, Option ID :- 642,
« 3, Option ID :- 643,

= 4, Option ID :- 644,
Answer Given:- 2, Option ID : -642

Question ID:- 162

Given below are two statements. One of them is labelled as Assertion (A) and the other as
Reason (R). Choose the correct answer with the help of code given below :

Assertion (A) : We place our food in the refrigerator to keep it fresh.
Reason (R) : Low temperature of refrigerator facilitates the growth of microorganisms.
(1) (A) and (R) both are true and (R) is the correct explanation of (A).
(2) (A) and (R) both are true but (R) is not the correct explanation of (A).
) (A)is true but (R) is false.
)

(3
(4) (A)is false but (R) is true.
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= &1 gaaer feu o ¥ | uw =i arfirene (A) 2T g @1 ST (R) el T © ) S e e e i e
[ T ST R TI L

AfEweA (A) : T U IS i A WaH F oA S8 TR § T €
T (R) : THISICET 1 FH AIIHH GEAsidl ot gig H HeE e €
1) (A) 3R (R) SHI W&l € iR (R), (A) % HEl AT T § |

) (A) ¥R (R) T & €, T (R), (A) i T A T FI]AE

) (A) T 8, T (R) T 2

) (A) T § 9 (R) HEl §

(
(2
(3
(4
Options:-

=1, Option ID :- 645,
= 2, Option ID :- 646,
« 3, Option ID :- 647,

« 4, Option ID :- 648,
Answer Given:- 3, Option ID : -647

Question ID:- 163

Yeast is used for the production of the following :

(1) Sugar
(2) Alcohol
(3) Hydrochloric acid
(4) Oxygen
%2 %1 3TEN 7 3 Seare | B R
(1) =
(2) Ul
(3) EESERIE I
(4) AT
Options:-

«1, Option ID :- 649,
« 2, Option ID :- 650,
= 3, Option ID :- 651,

= 4, Option ID :- 652,
Answer Given:- 2, Option ID : -650

Question ID:- 164
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Think about the following statements on irrigation and choose the correct answer :

(A) Sprinkler system is used mainly for even land.

B) In drip system, water falls drop by drop directly on the leaves of plants.

C) Drip system is the best technique for watering fruits laden plants , gradens and trees.

D) Drip system is not beneficial for the regions where availability of water is poor.
) Only (A) and (B)

2) Only (A) and (C)
) Only ()
) Only (D)

o= & dey H 9 fou U wE w fear & iR 98 S A gaH &
(A) Togwm o7 faf =1 STam gea: g9qa g & fag = s )
(B) Teuda fafu ¥ 5ot dg-ag wk die qielf =i ufai § fan 7
(C) Tgu = werer diel, st we gall sl i < o1 Faiad qlie € |
D) S %I FH 9l &6 % fou feu 93 foega wreHs &6 8

(

(1) e (A) 3R (B)
(2) HEE (A) #R Q)
(3) A (C)

(4) e (D)
Options:-

=1, Option ID :- 653,
« 2, Option ID :- 654,
« 3, Option ID :- 655,

« 4, Option ID :- 656,
Answer Given:- 3, Option ID : -655

Question ID:- 165

Choose the correct answer in the context of fertilizers :

(A) Fertilizers are chemicals which are rich in particular nutrients.

B) Fertilizers are carbonic salts.

C) Soil gets humus from fertilizers.

D) Fertilizers contain plant nutrients like Nitrogen, Phosphate and Potassium in ample quantity.
~ Only (A), (B) and (D)

)
2) Only (A) and (D)
3) Onlv (A) (B) and (C)
4)  Only (A) and (B)
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I F I H FHE B2
(A) 3ot TEmEiTE T € S o gent ¥ T Ea B
(B) &Y U FIE ek @av ¢ |
(C) dwh | gl i gy ym 2t 21
(D) Seiteh | UIgy Ureeh, S fof ArRier, W qen drefvy yerar | € 1
(1) e (A), (B) ¥R (D)
(2) FAE (A) ¥R (D)
(3) e (A), (B) 3R (O)
(4) e (A) 3R (B)
Options:-

=1, Option ID :- 657,

= 2, Option ID :- 658,

« 3, Option ID :- 659,

» 4, Option ID :- 660,

Answer Given:- 3, Option ID : -659
Question ID:- 166

Why do plants transpire ?

(1) To increase their strength.
(2) To keep themselves cool.
(3) To keep themselves warm.
(4)

4 To make their food.

UIE AT S A @ 2

(1) ST ehd s % fer
(2) ST9 3TT9eR! ST WA & g
(3) ST9H 9Hl TH T % fag
(4) AU GHE g9 % foig
Options:-

«1, Option ID :- 661,
« 2, Option ID :- 662,
= 3, Option ID :- 663,

= 4, Option ID :- 664,
Answer Given:- 4, Option ID : -664

Question ID:- 167
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Clayey soil is :

A) Boh!
B) H Hafdd

2

) (B) 3R (C)
3) (A) ¥R (Q)
) A (B)

(
(
(
(1) (A) 3R (B)
(
(
(

4

Options:-
«1, Option ID :- 665,

(A) Light

(B) Less aerated

(C) Able to hold more water
(1) (A)and (B)

(2) (B)and (C)

(3)  (A) and (C)

(4) Only (B)

g gt

C) AR U W el B

»« 2, Option ID :- 666,
»« 3, Option ID :- 667,

= 4, Option ID :- 668,
Answer Given:- 1, Option ID : -665
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Question ID:- 168

«1, Option ID :- 669,

81 of 88

A carnivore with strips on its body moves very fast while catching its prey. It is likely to be found

in:

(1) Polar region

(2) Deserts

(3) Oceans

(4) Tropical rainforests

U G Sq, e v w et St €, S0 R 1 used gug agd s | Rl § 1 39 U S

I I ®

(1) e a3 )

(2) TEEAH |

(3) HerHFH |

(4) SERfcEH Fuiad |
Options:-

» 2, Option ID :- 670,
=« 3, Option ID :- 671,
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Question ID:- 169

Choose the correct sequence :

(1) Ingestion — digestion — egestion — absorption — assimilation
2) Ingestion — digestion — assimilation — asbsorption — egestion
3) Ingestion — digestion — absorption — assimilation — egestion
4) Ingestion — absorption — digestion — assimilation — egestion

TE Y T ;
(1) W—)W—)ﬁw—)ﬂw—)w

Options:-

»1, Option ID :- 673,
« 2, Option ID :- 674,
»« 3, Option ID :- 675,

« 4, Option ID :- 676,
Answer Given:- 2, Option ID : -674

Question ID:- 170

Statement I :
Statement II :  All plants prepare their own foods.
(1) Statement I & II both are true.

(2) Statement I & II both are false.

(3) Statement I is true but statement II is false

(4) Statement I is false but statement II is true.

All plants are autotrophs

= &1 A feu mu ) feu gu fomedi # & W@ ST 1 =99 =
e - [ el qrey T 2 ¥

WA ~ 1 : Tt TIET 3101 5 & o & |

(1) oA I &R 11 2 Td €1

(2) YA 1 SR 11 SHi e §

(3) U 1T T, FUA 1L 7Td &

(4) A 1 7 & YA 1L EE 2

Options:-

«1, Option ID :- 677,
« 2, Option ID :- 678,
» 3, Option ID :- 679,
» 4, Option ID :- 680,
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Answer Given:- 1, Option ID : -677

Question ID:- 171

Cold deserts of Leh are :
A) Very High in altitude from sea level

(

(B) Dry

(C) Slopey

(D) Flat

(1) (A)and (B)

(2)  (A), (B) and (C)
(3) (A), (B) and (D)
(4) (B)and (C)

e F 38 Wram gl
(A) HHEGE § HH
(B) H@

(C) Bt

(D) HHAA

(1) (A) 3R (B)

(2) (A), (B) ¥R (C)
(3) (A) (B) ¥R (D)
(4) (B) 3R (Q
Options:-

«1, Option ID :- 681,
« 2, Option ID :- 682,
»« 3, Option ID :- 683,

»« 4, Option ID :- 684,
Answer Given:- 2, Option ID : -682

Question ID:- 172

Which kind of plant is it that traders of Portugal brought to India from South America ? Now it is
grown all over the country ?

(1) Brinjal

(2) Mango

(3) Chilli

(4) Fenugreek

a8 HA-F WH1 8 S I 9% o AR ST Sie H 9Rd @ 9 | 379 I8 "N 9RA § FE S @

(1) S
(2) ™
(3) THel
(4) A
Options:-
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=1, Option ID :- 685,
« 2, Option ID :- 686,
« 3, Option ID :- 687,

» 4, Option ID :- 688,
Answer Given:- 3, Option ID : -687

Question ID:- 173

Vaani, who lives in Mukhtarpur Village, has a pile of colorful threads in her house. Her home is
near to Pochampalli town. Most of the families in this town are weavers, That is why this special
weaving is called “Pochampalli’. This Pochampalli weaving is related to which state of India ?

1) Tamil Nadu

(

(2) Kerala

(3) Telangana
(4) Karnataka

HERE e § T aret =it 3 w3 F T1-fald ol o1 % o Ted € | S5 e T w5 % U § 1 Te
SR URER e € | THfaT 39 gTE i demusl’ A | 9sEe S @ | 98 Yrange 9 9 o R

T § Haiferd & ?

(1) afFeTg

(2) A

(3) e

(4) HARH
Options:-

«1, Option ID :- 689,
» 2, Option ID :- 690,
« 3, Option ID :- 691,

« 4, Option ID :- 692,
Answer Given:- 3, Option ID : -691

Question ID:- 174

You are a resident of Sohna Village. Your family members coat the floor of room by a mixture of
dung and mud every morning. Why do they do so ?

(1) Home gets prosperity.

(2) The floor of home becomes smooth.
(3) The floor of home becomes strong,
(4) The floor of home does not get insects.

AT g1 e o Framdt ¥ SiR oo =R % we IS §as W ¥ B & foard gt o ier #i faem w
19 T i R 2

(1) =R¥ wgfg 2t T

(2) R wY faer & S
(3) TR Y H TSI o S g
(4) R F Y HFIE TE @ |

Options:-
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=1, Option ID :- 693,
« 2, Option ID :- 694,
« 3, Option ID :- 695,

» 4, Option ID :- 696,
Answer Given:- 4, Option ID : -696

Question ID:- 175

Fill in the blanks by using the correct option :

I have come from a Village in . Rainfall is very scarce in our area. It is very hot too. We
live in mud houses. The roofs are made of thorny bushes.

(1) Gujarat

(2) Maharashtra
(3) Chhattisgarh
(4) Rajasthan

e fasrey g e = &) gfd =1

H % U TG ST § | SN T A1 95 S al § SR e Tl aedr 2 1 g e fugt %
T wEd 19 Faral enfiEl &t &= g B

(1) TSI

(2) Hewg

(3) TEETE

(4) TSI

Options:-

«1, Option ID :- 697,
« 2, Option ID :- 698,
»« 3, Option ID :- 699,

»« 4, Option ID :- 700,
Answer Given:- 4, Option ID : -700

Question ID:- 176

Given below are two statements, one labelled as Assertion (A) and the other labelled Reason (R).
Choose the correct answer :

Assertion (A) : Inschools, children are encouraged to express their feelings through various ways.
Reason (R) : This develops their abiility of creative expressions.

(1) (A) and (R) both are true and (R) is the correct explanation of (A).

(2) (A) and (R) both are true but (R) is not the correct explanation of (A).

(3) (A) is true but (R) is false

(4) (A) is false but (R) is true.
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= & gee fou Mo ¥ | U w1 AIfeeRe (A) SR TE ) ST (R) el A 1 TE 9 A T9H L
fireReE (A) :  foemerml & a=di o6 st el @6 fafvs ave 9 e & & fore 3fta foran s 81
T (R) : SO Ih! YerIeeR ANEATEAT i arar o fashr g €

(1) (A) 2R (R) 1 T €, 701 (R), (A) T & e -l 2 |

(2) (A) 3R (R) S W& €, W (R), (A) & FE ST 78 Bl @ |

(3) (A) §@ g 9%g (R) Td €

(4) (A) 7§, T (R) TE B

Options:-

«1, Option ID :- 701,

« 2, Option ID :- 702,

» 3, Option ID :- 703,

« 4, Option ID :- 704,
Answer Given:- 1, Option ID : -701

Question ID:- 177

Which among the following is different from the other ?

(1) Fish

(2) Crocodile
(3) Tortoise
(4) Monkey

fFAfafEa i F = QA fim e ?

(1) wSet
(2) WRH=S
(3) Fga
(4 @
Options:-

«1, Option ID :- 705,

» 2, Option ID :- 706,

« 3, Option ID :- 707,

= 4, Option ID :- 708,

Answer Given:- 4, Option ID : -708
Question ID:- 178

I enjoy the food, if T get to eat boiled tapioca with any curry made using coconut.
[ am a resident of which state of India ?
(1) Madhya Pradesh

(2) Kerala
(3) Jharkhand
(4) Chhattishgarh
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T e el g fordl ot &l o e Saen g3 fusien fie Se o @ H 587 37 Sl & | SaEy H 9Rd 5
oY T &1 & A g 2

(1) ¥ YW

(2) A

(3) @GS

(4) BEwE
Options:-

«1, Option ID :- 709,

« 2, Option ID :- 710,

« 3, Option ID :- 711,

« 4, Option ID :- 712,

Answer Given:- 2, Option ID : -710
Question ID:- 179

Which of the following is true in the context of microorganisms ?
(1) Microorganisms are found in marshy lands but not in the desert.
Microorganisms are found in bodies of all organisms including human beings.

(2
(3) Microorganisms like algae cannot live alone.
(4)

Microorganisms cannot live in cold environment.

Freafafad § & gaasita % e § P Wt € 2

(1) YIeie goed o a1 o s § iy Teed 5 78 |

(2) gersig A Afed |l Sigeil % I & ey off we o €1
(3)  STHE ST gewsd faege sTehel TRl 18 Wehd |

(4) gemsie et uftfefa # sfifad 78 @ g% €1

Options:-

«1, Option ID :- 713,
« 2, Option ID :- 714,
« 3, Option ID :- 715,

« 4, Option ID :- 716,
Answer Given:- 1, Option ID : -713

Question ID:- 180

"Energy giving food’ is :

(1) food containing protein

(2) food containing fat

(3) food containing carbohydrates
(4) food containiing dietary fibres
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(1) YRFEE YeH &l

(2) =H IH HISH H

(3) HERESE b HISH H

(4) SERI T geb YIS hl
Options:-

«1, Option ID :- 717,
» 2, Option ID :- 718,
« 3, Option ID :- 719,

» 4, Option ID :- 720,
Answer Given:- 1, Option ID

1 =717
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001 General English

002 General English

003 General English

004 General English

005 General English

006 General English

007 General English

008 General English

009 General English

010 General English

011 General Hindi

012 General Hindi

013 General Hindi

014 General Hindi

015 General Hindi

016 General Hindi

017 General Hindi

018 General Hindi

019 General Hindi

020 General Hindi

021 General Awareness& Current Affairs
022 General Awareness& Current Affairs
023 General Awareness& Current Affairs
024 General Awareness& Current Affairs
025 General Awareness& Current Affairs
026 General Awareness& Current Affairs
027 General Awareness& Current Affairs
028 General Awareness& Current Affairs
029 General Awareness& Current Affairs
030 General Awareness& Current Affairs
031 Reasoning Ability

032 Reasoning Ability

033 Reasoning Ability

034 Reasoning Ability

035 Reasoning Ability

036 Computer Literacy

037 Computer Literacy

038 Computer Literacy

039 Computer Literacy

040 Computer Literacy

041 Understanding the Learner

042 Understanding the Learner

043 Understanding the Learner

044 Understanding the Learner

045 Understanding the Learner

046 Understanding the Learner

047 Understanding the Learner

048 Understanding the Learner

049 Understanding the Learner

050 Understanding the Learner

051 Understanding the Learner

A2 N =220 =2 a N2 a2 0O =2 B BADNOODNPEOO=_2DNBAWODNMN-

DROP

A =2 N R =200 OO_2DNORAORAR_2A2aDND

052 Understanding the Learner

053 Understanding the Learner

054 Understanding the Learner

055 Understanding the Learner

056 Understanding Teaching Learning
057 Understanding Teaching Leaming
058 Understanding Teaching Learning
059 Understanding Teaching Leaming
060 Understanding Teaching Learning
061 Understanding Teaching Leaming
062 Understanding Teaching Learning
063 Understanding Teaching Leaming
064 Understanding Teaching Learning
065 Understanding Teaching Leaming
066 Understanding Teaching Learning
067 Understanding Teaching Leaming
068 Understanding Teaching Learning
069 Understanding Teaching Leaming
070 Understanding Teaching Learning

071 Creating Conducive Learning Env. Etc.
072 Creating Conducive Leaming Env. Etc.
073 Creating Conducive Learning Env. Etc.
074 Creating Conducive Leaming Env. Etc.
075 Creating Conducive Learning Env. Etc.
076 Creating Conducive Learning Env. Etc.
077 Creating Conducive Learning Env. Etc.
078 Creating Conducive Learning Env. Etc.
079 Creating Conducive Learning Env. Etc.
080 Creating Conducive Learning Env. Etc.

081 School Organization and Leadership
082 School Organization and Leadership
083 School Organization and Leadership
084 School Organization and Leadership
085 School Organization and Leadership
086 School Organization and Leadership
087 School Organization and Leadership
088 School Organization and Leadership
089 School Organization and Leadership
090 School Organization and Leadership
091 Perspectives in Education

092 Perspectives in Education

093 Perspectives in Education

094 Perspectives in Education

095 Perspectives in Education

096 Perspectives in Education

097 Perspectives in Education

098 Perspectives in Education

099 Perspectives in Education

100 Perspectives in Education

101 HINDI

102 HINDI

WA BABADMNMNDMNMNWOWRARO=_2DNPE,OMNOORA=SDNADNPAEBOBRERBOWODNODN=S2OWODN=_20ROPREAWPEROWOWREROWODN=_2=20WOWOWDMNMNWON-_2AW

103 HINDI
104 HINDI
105 HINDI
106 HINDI
107 HINDI
108 HINDI
109 HINDI
110 HINDI
111 HINDI
112 HINDI
113 HINDI
114 HINDI
115 HINDI
116 HINDI
117 HINDI
118 HINDI
119 HINDI
120 HINDI
121 ENGLISH
122 ENGLISH
123 ENGLISH
124 ENGLISH
125 ENGLISH
126 ENGLISH
127 ENGLISH
128 ENGLISH
129 ENGLISH
130 ENGLISH
131 ENGLISH
132 ENGLISH
133 ENGLISH
134 ENGLISH
135 ENGLISH
136 ENGLISH
137 ENGLISH
138 ENGLISH
139 ENGLISH
140 ENGLISH
141 MATHS
142 MATHS
143 MATHS
144 MATHS
145 MATHS
146 MATHS
147 MATHS
148 MATHS
149 MATHS
150 MATHS
151 MATHS
152 MATHS
153 MATHS
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154 MATHS
155 MATHS
156 MATHS
157 MATHS
158 MATHS
159 MATHS
160 MATHS
161 EVS
162 EVS
163 EVS
164 EVS
165 EVS
166 EVS
167 EVS
168 EVS
169 EVS
170 EVS
171 EVS
172 EVS
173 EVS
174 EVS
175 EVS
176 EVS
177 EVS
178 EVS
179 EVS
180 EVS
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